TOMO I

PESIN 2020 - 2034

ANEXO ¥

CURVAS QV
ESCENARIO DE REFERENCIA

(Largo Plazo)



11-2026-Max-Sec_6001

Minimo Margen de

750.000 Reactivo-62.05MVAr
625.000
/ —— CASO BASE
500.000
——1L1 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000
///// ——13  Plant(MVAR)
250,000 y —— 148 Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 T T T T ) ——L9 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000
——P7 Plant (MVAR)
~———P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6002
Minimo Margen de
750.000 Reactivo-54.23MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000
//// ——13 Plant (MVAR)
250,000 , —— 148 Plant (MVAR)
——16 Plant(MVAR)
125.000 ——1L7 Plant(MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 T T r . ——19 Plant(MVAR)
0.700 0.750 0.800 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ~——P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-Max-Sec_6003

Minimo Margen de

750.000 Reactivo:-63.82MVAr
625.000
/ —— CASO BASE
500.000
——L1 Plant(MVAR)
i ——12B  Plant (MVAR)
375.000
/// ——13 Plant (MVAR)
250,000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
//// ——18 Plant(MVAR)
Q[MVAr] 0000 ; ; . . . . ——19 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 .000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 S ——ST1 Plant(MVAR)
—~—ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6004
Minimo Margen de
750.000 Reactivo:-56.09MVAr
625.000
—— CASO BASE
500.000
——1L1 Plant(MVAR)
——12B  Plant (MVAR
375.000 A o )
/ —~—13 Plant (MVAR)
550,000 ——14B  Plant (MVAR)
/ ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T " - . ~—~—19 Plant(MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~—~—P7  Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-Max-Sec_6005

Minimo Margen de

750.000 Reactivo:-72.36MVAr
625.000
/ —— CASO BASE
500.000
g ——1L1 Plant (MVAR)
4 ——1L2B  Plant (MVAR)
375.000
/ / ——13  Plant(MVAR)
250000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T ; : : , —~— L9 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.95 1. 1.100 1.150 L10  Plant (MVAR)
7
-125.000 < = ——ST1  Plant (MVAR
(MVAR)
. ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6008
Minimo Margen de
750.000 eactivo-181.04MVAr
625.000
/ // —— CASO BASE
500.000
—— 11 Plant (MVAR)
—— 2B Plant (MVAR)
375.000 /
/// ——13 Plant (MVAR)
550,000 —— 4B Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
/// ——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T : —— L9 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1. 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-Max-Sec_6009

Minimo Margen de

750.000 Reactivo:-192.55MVAr
625.000
—— CASO BASE
500.000
——1L1 Plant (MVAR)
——128B  Plant (MVAR
375.000 v ant{ )
I// ——13 Plant (MVAR)
250000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
// ——18 Plant (MVAR)
0.000 ; ; ; : . —~— L9 Plant (MVAR)
0.7 0.900 0.950 1.0 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 / ' P3  Plant (MVAR)
= P5  Plant (MVAR)
-500.000 ~——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6018
Minimo Margen de
750.000 Reactivo:-54.69MVAr
625.000
—— CASO BASE
500.000
—— 11 Plant (MVAR)
/ —— 2B Plant (MVAR)
375.000 g
//Z/ —— 13 Plant(MVAR)
550,000 —— 4B Plant (MVAR)
% ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
0.000 . , ——1L9 Plant (MVAR)
0.7 1.100 1.150 110  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-Max-Sec_6173

Minimo Margen de

750.000 Reactivo:-44.04MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—13 Plant (MVAR)
250.000 ——L4B  Plant (MVAR)
/ ——16 Plant(MVAR)
125.000 ol ——17 Plant(MVAR)
/ —— 18 Plant (MVAR)
Q[MVAr]  0.000 T T : , ~——19 Plant(MVAR)
0.700 1.000 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1 Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-Max-Sec_6182
Minimo Margen de
750.000 Reactivo-272.74MVAr
/
625.000
/// —— CASO BASE
500.000
/ ——1L1 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000
//// ——13 Plant(MVAR)
250,000 ——14B  Plant (MVAR)
///7 ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
/// ——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T " : A " : , ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /1% 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-Max-Sec_6840

Minimo Margen de

750.000 Reactivo:-65.16MVAr
625.000
% —— CASO BASE
500.000
——11 Plant(MVAR)
/ ——— 128 Plant (MVAR)
375.000
/// ——13 Plant (MVAR)
250,000 ——L4B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 T T T - . ——19 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-MaxSol-Sec_6001
Minimo Margen de
750.000 Reactivo:-74.08MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
/// ——13 Plant(MVAR)
550,000 ——14B  Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 & ——1L7 Plant(MVAR)
\ ——18 Plant(MVAR)
Q[MVAr]  0.000 T - : , ——19 Plant(MVAR)
0.700 0.750 1.050 1.100 1.150 110 Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~—— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~—~—P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6002

Minimo Margen de

750.000 Reactivo:-64.27MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
/ ——— 128 Plant (MVAR)
375.000
// —~— 13 Plant (MVAR)
250000 ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
QIMVA] 0000 . . ——19 Plant (MVAR)
0.7 1.100 1.150 110  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-MaxSol-Sec_6003
Minimo Margen de
750.000 Reactivo-74.52MVAr
625.000
—— CASO BASE
500.000
—— 11 Plant (MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant (MVAR)
550,000 —— 148 Plant (MVAR)
——16 Plant (MVAR)
125.000 ——17 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T . . ——19  Plant (MVAR)
0.700 0.750 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6004

Minimo Margen de

750.000 Reactivo:-66.62MVAr
625.000
—— CASO BASE
500.000
——1L1 Plant (MVAR)
——1L2B  Plant (MVAR)
375.000 4
/ ——13 Plant(MVAR)
550,000 / pd —— 148 Plant (MVAR)
// ——16 Plant(MVAR)
125.000 ——L7 Plant (MVAR)
/ ——18 Plant (MVAR)
Q[MVAr]  0.000 T - : , —~— L9 Plant (MVAR)
0.700 0.750 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-MaxSol-Sec_6005
Minimo Margen de
750.000 Reactivo:-82.36MVAr
625.000
—— CASO BASE
500.000
—— 11 Plant (MVAR)
—— 2B Plant (MVAR)
375.000
——13 Plant (MVAR)
550,000 —— 4B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr] 0000 ; . . . . ——1L9 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6008

Minimo Margen de

750.000 //(eactlvo:—116.56MVAr
625.000 /
4
—— CASO BASE
500.000
——1L1 Plant (MVAR)
——1L2B  Plant (MVAR)
375.000
//// ——13 Plant (MVAR)
250000 ——L4B  Plant (MVAR)
/// ——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
/% ——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %//// 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
\ //// ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
\ )%/ P2 Plant (MVAR)
-375.000 \/ P3  Plant (MVAR)
\ Z PS5  Plant (MVAR)
-500.000 /4 - ——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-MaxSol-Sec_6009
Minimo Margen de
750.000 Reactivo:-220.87MVAr
625.000
—— CASO BASE
500.000
—— 11 Plant (MVAR)
—— 2B Plant (MVAR)
375.000
/ ——13 Plant (MVAR)
550,000 —— 4B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 : : - : . , ——1L9 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 = ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6018

Minimo Margen de

750.000 Reactivo:-64.36MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
/ ——128  Plant (MVAR)
375.000
——13 Plant(MVAR)
250,000 ——L4B  Plant (MVAR)
——16 Plant(MVAR)
125.000 ——17 Plant(MVAR)
——18 Plant(MVAR)
Q[MVAr]  0.000 - . ——19 Plant (MVAR)
0.700 1.100 1.150 110  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
11-2026-MaxSol-Sec_6173
Minimo Margen de
750.000 Reactivo:-50.3MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——13 Plant(MVAR)
550,000 ——14B  Plant (MVAR)
——16 Plant(MVAR)
125.000 / ——L7 Plant (MVAR)
——18 Plant(MVAR)
Q[MVAr] 0000 ——19 Plant(MVAR)
1.050 1.100 1.150 110 Plant (MVAR)
——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~—~—P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000

V [pu]




11-2026-MaxSol-Sec_6182

Minimo Margen de

750.000 / Reactivo:-338.63MVAr
625.000 %
/
/ // —— CASO BASE
500.000
W —— L1 Plant(MVAR)
——128B  Plant (MVAR
375.000 f7 ant{ )
// ——13 Plant (MVAR)
250000 / ——L4B  Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T | ——19 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~—P9  Plant (MVAR)
-625.000 ,
-750.000 -
V [pu]
11-2026-MaxSol-Sec_6840
Minimo Margen de
750.000 Reactivo-74.63MVAr
625.000
/ —— CASO BASE
500.000
—— 11 Plant (MVAR)
—— 2B Plant (MVAR)
375.000
——13 Plant (MVAR)
550,000 —— 4B Plant (MVAR)
——16 Plant (MVAR)
125.000 ——L7 Plant (MVAR)
——18 Plant (MVAR)
Q[MVAr]  0.000 T . , ——1L9 Plant (MVAR)
0.700 0.750 1.100 1.150 L10  Plant (MVAR)
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6001

Minimo Margen de

750.000 Reactivo:-25MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0.000 T T T 1 |
0.700 0.750 0.800 1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6002
Minimo Margen de
750.000 Reactivo:-20.66MVAr
625.000
500.000 —— CASO BASE
Z ——11 Plant (MVAR)
375.000 —— 128  Plant (MVAR)
/4/ —— 4B Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T T ) 0 bl
0.700 0.750 0.800 1.100 1.150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6003

Minimo Margen de

750.000 Reactivo:-26.15MVAr
625.000
500.000 / —— CASO BASE
/ ——11 Plant(MVAR)
375.000 f —— 128 Plant (MVAR)
// ——L4B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
AN
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; ; . \
0.700 0.750 0.800 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6004
Minimo Margen de
750.000 Reactivoi-21.05MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
7
~—— 148 Plant (MVAR)
250.000 - ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : T T T ) 0 bl
0.700 0.750 0.800 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6005

Minimo Margen de

750.000 Reactivo:-25.18MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0.000 T T T 1 |
0.700 0.750 0.800 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6008
Minimo Margen de
750.000 Reactivo-40.93MVAr
4
625.000 4
500.000 /// —— CASO BASE
// —— L1 Plant(MVAR)
375.000 7 —— 128 Plant (MVAR)
/ ~—— 148 Plant (MVAR)
250.000 / ——16 Plant(MVAR)
| ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : . T T Hi T T " -
0.700 0.750 0.800 0.850 0.900 0.950 10 1.050 1.100 1.150 L10  Plant (MVAR)
| ST1  Plant (MVAR)
-125.000 \
| / ——ST2  Plant (MVAR)
250,000 % / ——P1 Plant (MVAR)
-250. ==
M P2  Plant (MVAR)
275,000 _ P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6009

Minimo Margen de

750.000 Reactivo:-48.03MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——1L16 Plant(MVAR)
—— L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 T T " ' ! ' ! ! 110  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6018
Minimo Margen de
750.000 Reactivo:-21.33MVAr
625.000
500.000 —— CASO BASE
/ ——1L1 Plant(MVAR)
375.000 Z. ——L2B Plant (MVAR)
/ —~—L4B Plant (MVAR)
250.000 & ——16 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 . . . . . Lo Plant (MVAR
0.700 0.750 0.800 1.050 1.100 1.150 ant ( )
ST1 Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6173

Minimo Margen de

750.000 Reactivo:-18.33MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
N ——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; = ; ; . |
0.700 0.750 m&g o.sW 0950 1.000 1.050 1100 1150 110 Plant(MVAR)
== ST1  Plant (MVAR)
-125.000 S——=
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6182
Minimo Margen de
750.000 Reactivo:-58.47MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : T T T ) o »
0.700 0.750 0.800 0.850 0.900 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
275,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-Max-Lluv_6840

Minimo Margen de

750.000 Reactivo:-23.27MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T - - . \
0.700 0.750 0.800 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-Max-Lluv_6018
Minimo Margen de
750.000 Reactivo:-21.33MVAr
625.000
500.000 —— CASO BASE
Z ——11 Plant (MVAR)
375.000 Z. ——1L28  Plant (MVAR)
/ ~——14B Plant (MVAR)
250.000 7 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . . . . . L0 plant (VAR
0.700 0.750 0.800 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
——5T2  Plant (MVAR)
250,000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-25.33MVAr
625.000 —
=
500.000 VL —— CASO BASE
V.
y ——11 Plant (MVAR)
375.000 ——L12B  Plant (MVAR)
/ —— 148 Plant (MVAR)
250.000 / - ——16 Plant (MVAR)
[ ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; ; . |
0.700 0.750 0.800 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MaxSol-Lluv_6002
Minimo Margen de
750.000 Reactivo-22.46MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : T " o bl
0.700 0.750 0.800 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-26.62MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; ; . |
0.700 0.750 0.800 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MaxSol-Lluv_6004
Minimo Margen de
750.000 Reactivo-23.2MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : . T " o bl
0.700 0.750 0.800 0. 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
275,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6005

Minimo Margen de

750.000 Reactivoi-27.51IMVAr
625.000 /
500.000 / —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
// —— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T T - - . \
0.700 0.750 0.800 0.850 1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MaxSol-Lluv_6008
Minimo Margen de
750.000 eactivo:-51.7IMVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128  Plant (MVAR)
/ —— 4B Plant (MVAR)
250.000 ——16 Plant (MVAR)
. ——1L17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T : 0 bl
0.700 0.750 0.800 0.850 0.900 0.450 1, 1.050 1.100 1.150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
\ / ——ST2  Plant (MVAR)
250000 = ——P1 Plant (MVAR)
\\////// P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-63.13MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 ; ; ; — ; . |
0.7 0.850 0.900 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MaxSol-Lluv_6018
Minimo Margen de
750.000 Reactivo:-22.25MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . ,
o 1100 1150 L10 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6173

Minimo Margen de

750.000 Reactivo:-18.55MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 =
——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : ; ; . |
0.700 0.750 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MaxSol-Lluv_6182
Minimo Margen de
750.000 Reactivoi-79.56MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : . T T T " o bl
0.700 0.750 0.800 0.850 0.900 0.950 }/ 0 1.050 1.100 1150 L10  Plant (MVAR)
/ ST1 Plant (MVAR)
-125.000
/ ——ST2  Plant (MVAR)
7, ——P1  Plant (MVAR)
-250.000
%/ P2 Plant (MVAR)
P3  Plant (MVAR)
-375.000 —
7/ P5  Plant (MVAR)
500,000 = P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MaxSol-Lluv_6840
Minimo Margen de

750.000 Reactivo:-26.25MVAr

625.000

500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 —— 2B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 / ——16 Plant(MVAR)
‘ ——17 Plant (MVAR)
125.000

4 ——18 Plant(MVAR)

'\\\s\ // ——19 Plant (MVAR)

Q[MVAr]  0.000 T T - J— - - . |
0.700 0.750 0.800 \—vgﬁf// 1.000 1.050 1100 1150 L0 Plant(MVAR)
S ST1 Plant (MVAR)
-125.000 ——
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAlt-Lluv_6001
Minimo Margen de
750.000 Reactivo:-132.45MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000

\ ] ——18 Plant (MVAR)
&\ i ~——19 Plant(MVAR)
Q[MVAr]  0.000 : . . . A . . , o o
0.700 0.750 0. 0.850 0900 0950  1.000 1.050 1.100 1.150 L10  Plant (MVAR)
A ST1  Plant (MVAR)

-125.000
&\// ——ST2  Plant (MVAR)

4 “———P1 Plant (MVAR)
P2 Plant (MVAR)

-250.000

P3  Plant (MVAR)

-375.000
P5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAlt-Lluv_6002

Minimo Margen de

750.000 Reactivo:-119.27MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
/ —— 148 Plant (MVAR)
250.000 = ——16 Plant(MVAR)
/ ——17 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
Q ——19 Plant (MVAR)
Q[MVAr]  0.000 : - - ; — ; ; . |
0.700 0.750 \\0.850 0.900 0.950 0 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000 -| S S~
/ ——ST2  Plant (MVAR)
\J/ ——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAlt-Lluv_6003
Minimo Margen de
750.000 Reactivo-137.41MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 I ——18 Plant (MVAR)
f
\ \ / ——19 Plant (MVAR)
Q[MVAr]  0.000 : T T T i T T : -
0.700 0.750 038 0.850 0.900 0.950 71.000 1.050 1.100 1.150 L10  Plant (MVAR)
N\ ST1 Plant (MVAR)
-125.000 -
7 / ——ST2  Plant (MVAR)
b ——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAlt-Lluv_6004

Minimo Margen de

750.000 Reactivo:-121.34MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 —— 2B  Plant (MVAR)
/ ——L4B  Plant (MVAR)
1
250.000 7= ——16 Plant (MVAR)
~ / ——17 Plant(MVAR)
125.000 -~ ——18 Plant (MVAR)
\ \\ ~——19 Plant (MVAR)
Q[MVAr]  0.000 T T ; ; ; ; . \
0.700 0.750 0:900 0.950 1,000 1.050 1100 1150 L0 Plant(MVAR)
7 ST1  Plant (MVAR)
-125.000 - > —~——
/ ——ST2  Plant (MVAR)
——— ——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAlt-Lluv_6005
Minimo Margen de
750.000 Reactivo:-133.61MVAr
625.000
500.000 —— CASO BASE
/ —— 11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
—~— 4B Plant (MVAR)
250.000 ——16 Plant(MVAR)
——L7 Plant (MVAR)
125.000 / ——18 Plant(MVAR)
& 2 / ~—~—19 Plant (MVAR)
Q[MVAr]  0.000 : : - : : : : . . o b
0.700 0.750 0. x\\\@o 0:900 0.950 //1.000 1.050 1100 1.150 L10  Plant (MVAR)
\ ST1  Plant (MVAR)
-125.000 /
A\ / ——ST2  Plant (MVAR)
¢ P1  Plant (MVAR
R ant
-250.000 7 ( )
S=—— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAlt-Lluv_6008

Minimo Margen de

750.000 Reactivo:-176.9MVAr
625.000
500.000 / —— CASO BASE
///// ——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
/// —— 148 Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ~——18 Plant (MVAR)
——19 Plant(MVAR)
0.000 T T T T T :
0.7 0.850 0.900 0.950 1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
/i ——ST2  Plant (MVAR)
\ x\\ \ 1,/ ——P1 Plant (MVAR)
-250.000 v 77/
\\ //// P2 Plant (MVAR)
375,000 : P3  Plant (MVAR)
v P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAlt-Lluv_6009
Minimo Margen de
750.000 Reactivo:-168.5MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——1L17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
0.000 - - r ; : - .
0.7 0.850 0.900 0.950 1.000 1.050 1.100 1150 110 Plant(MVAR)
. ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAlt-Lluv_6018

Minimo Margen de

750.000 Reactivo:-118.77MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
/ —— 148 Plant (MVAR)
250.000 = ——16 Plant(MVAR)
/ ——17  Plant (MVAR)
125.000 ——18 Plant (MVAR)
N ——19 Plant (MVAR)
Q[MVAr]  0.000 : - - - > - ; . \
0.700 0.750 0.900 0.950 00 1.050 1.100 1150 110 Plant(MVAR)
/’ ST1 Plant (MVAR)
-125.000 -
/ ——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAlt-Lluv_6173
Minimo Margen de
750.000 Reactivo-97.43MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
= ——17 Plant (MVAR)
125.000 = ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[Mvar] ' : ' ! ! 110  Plant (MVAR
0.9w/ 1.000 1.050 1.100 1.150 ant( )
ST1  Plant (MVAR)
—
- ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAlt-Lluv_6182

Minimo Margen de

750.000 Reactivo:-239.12MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 2B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 7 ——16 Plant(MVAR)
/ ——L7 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
/ ~—=—19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T ; ; : |
0.700 0.750 0.800 0.850 0.900 0.950 H/ooo 1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
// ——P1 Plant (MVAR)
-250.000
// P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
% P5  Plant (MVAR)
-500.000 —_— P7  Plant (MVAR)
= P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAlt-Lluv_6840
Minimo Margen de
750.000 Reactivo-134.05MVAr
625.000
500.000 —— CASO BASE
7 ——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
7 / ~—~— 4B Plant (MVAR)
250.000 2 ——16 Plant (MVAR)
——1L17 Plant(MVAR)
125.000 ] ——18 Plant (MVAR)
\ /’ ~——19 Plant(MVAR)
Q[MVAr]  0.000 T 2 T T T T T T ) 0 Pl
0.700 0.750 0. 0.850 0.900 0.950 / 1.000 1.050 1.100 1.150 L10  Plant (MVAR)
N ST1 Plant (MVAR)
-125.000 N /
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAltSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-310.85MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 /7/ ——16 Plant(MVAR)
/ ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; ; ; = ; ; . 10 Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 |10 1.050 1100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAltSol-Lluv_6002
Minimo Margen de
750.000 Reactivo-272.8MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : . T " 0 P
0.700 0.750 0.800 0.850 0.900 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000 N
\ ——ST2  Plant (MVAR)
N
\\ ——P1 Plant (MVAR)
-250.000 >
\ P2  Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAltSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-314.46MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
4B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; ; . ‘ , . . |
0.700 0.750 0.800 0.850 0.900 0.950 00 1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000 /
——5ST2  Plant (MVAR)
// ——P1 Plant (MVAR)
-250.000 y/
;// P2 Plant (MVAR)
375.000 x P3  Plant (MVAR)
— PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAltSol-Lluv_6004
Minimo Margen de
750.000 Reactivo-267.71MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : . . . T : 0 P
0.700 0.750 0.800 0.850 0.900 0.950 1.0 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——5ST2  Plant (MVAR)
§\\\ / Pl Plant (MVAR)
-250.000 \\ e -
&\\344& 3 P2 Plant (MVAR)
275,000 ——— P3  Plant (MVAR)
PS  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAltSol-Lluv_6005

Minimo Margen de

750.000 Reactivo:-338.12MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : ; ; ; . . |
0.700 0.750 0.800 0.850 0.900 0.950 1.00 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAltSol-Lluv_6008
Minimo Margen de
750.000 Reactivo:-469.12MVAr
625.000
500.000 —— CASO BASE
7 ——11 Plant (MVAR)
375.000 4 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
/ ——1L17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : . . " 0 P
0.700 0.750 0.800 0.850 0.900 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
\\ \ P5  Plant (MVAR)
-500.000 \ N P7  Plant (MVAR)
M P9 Plant (MVAR)
-625.000 ~—
-750.000

V [pu]




12-2026-MedAltSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-424.07MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
/ ——17 Plant (MVAR)
/i
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T i ' ' ! ! 110  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.050 1.100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000 v
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAltSol-Lluv_6018
Minimo Margen de
750.000 Reactivo=272.39MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
/ ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
Wz / —— 19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T o T : -
0.700 0.750 0.800 0.850 0.900 0.950 1.07( 050 1.100 1.150 L10  Plant (MVAR)
/ ST1  Plant (MVAR)
-125.000 /-
/ ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




12-2026-MedAltSol-Lluv_6173

Minimo Margen de

750.000 Reactivo:-188.84MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
- / —— L8 Plant(MVAR)
——19 Plant (MVAR)
Q[MvAr] - 0.000 ! ! ! 110  Plant (MVAR
0.7 0.850 1100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
= ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
12-2026-MedAltSol-Lluv_6182
Minimo Margen de
750.000 Reactivo:-568.47MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 , . . . .
0.7 0.850 0.900 0.950 ik 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
7 ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
/ / P2 Plant (MVAR)
/
375,000 / 74 P3  Plant (MVAR)
/// P5  Plant (MVAR)
500,000 _ P7  Plant (MVAR)
e P9 Plant (MVAR)
AN
-625.000 —
-750.000 SN\

V [pu]




12-2026-MedAltSol-Lluv_6840

Minimo Margen de

750.000 Reactivo:-318.27MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
/ ——17 Plant(MVAR)
125.000 g ——18 Plant(MVAR)
——19  Plant (MVAR)
QIMVAr] 0000 ; ; ; . . % . . ,
0.700 0.750 0.800 0.850 0.900 0950 "1.00 1.050 1.100 1.150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000 >
—— T2 Plant (MVAR)
——P1 Plant (MVAR)
-250.000 /
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-Max-Sec_6001
Minimo Margen de
750.000 Reactivo:-64.3MVAr
625.000 /
500.000 / —— CASO BASE
/ / ——11 Plant(MVAR)
/
375.000 // —— 128 Plant (MVAR)
/ / 148 Plant (MVAR)
250.000 I ——16 Plant (MVAR)
‘ ——1L7 Plant (MVAR)
125.000 —— 18 Plant(MVAR)
—— 19 Plant(MVAR)
Q[MVAr]  0.000 . . . , o bl
0.700 0.750 1.050 1.100 1.150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
—— T2 Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
~625.000
-750.000

V [pu]




13-2027-Max-Sec_6002

Minimo Margen de

750.000 Reactivo:-55.43MVAr
625.000
500.000 —— CASO BASE
/ ——11 Plant (MVAR)
375.000 ~ —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[Mvar] - 0.000 ! ' 110 Plant (MVAR
0.700 1100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-Max-Sec_6003
Minimo Margen de
750.000 Reactivo:-64.76MVAr
625.000
500.000 —— CASO BASE
// ——11 Plant(MVAR)
375.000 ; —— 128 Plant (MVAR)
/ / 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 7 —— 18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 : - T T " 0 bl
0.700 0.750 1.000 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000 :
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
275,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-Max-Sec_6004

Minimo Margen de

750.000 Reactivo:-57.08MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 % ——16 Plant (MVAR)
/ ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : ; . |
o700 0750 1100 1150 L0 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-Max-Sec_6005
Minimo Margen de
750.000 Reactivo:-69.61MVAr
625.000 ;
4
4
500.000 / —— CASO BASE
// —— L1 Plant(MVAR)
375.000 7 —— 128 Plant (MVAR)
// ~—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
\ ——17 Plant (MVAR)
125.000 \ // ——18 Plant (MVAR)
\ / ——19 Plant (MVAR)
Q[MVA]  0.000 ; : \& \ . // T T T v -
0.700 0.750 0.800 0\ 0.900 09507 /000 1.050 1.100 1.150 L10  Plant (MVAR)
) 74 ST1  Plant (MVAR)
-125.000 ,
: ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
275,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-Max-Sec_6008

Minimo Margen de

750.000 // Reactivo:-181.25MVAr
4/
625.000 //
500.000 / —— CASO BASE
/
// ——11 Plant(MVAR)
375.000 / —— 128 Plant (MVAR)
/ —— 148 Plant (MVAR)
250.000 / ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : ; ; ; . |
0.700 0.750 0.800 0.850 0.900 1.050 1100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-Max-Sec_6009
Minimo Margen de
750.000 Reactivo:-194.97MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 2 —— 128 Plant (MVAR)
4
g ~—— 148 Plant (MVAR
Y ( )
250.000 //// ——16 Plant (MVAR)
4 ——1L7 Plant(MVAR)
Y
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : T T T T T T ) o ol
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000 4
——ST2  Plant (MVAR)
7
750000 # ——P1 Plant (MVAR)
__//// P2 Plant (MVAR)
275,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 = P7  Plant (MVAR)
=
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-Max-Sec_6018

Minimo Margen de

750.000 Reactivo:-54.3MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 + ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - - . |
07 1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1  Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-Max-Sec_6173
Minimo Margen de
750.000 Reactivo:-43.57MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
~ ——17 Plant (MVAR)
125.000 o=l
- ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] T T 1
1.050 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
275,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-Max-Sec_6182

Minimo Margen de

750.000 Reactivo:-265.77MVAr
625.000 ;
/
500.000 - —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
—— 148 Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
0.000 : - ; ; ; .
0.7 0.850 0.900 0.950 1.000/ 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
/ ——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
/// P2 Plant (MVAR)
75,000 P3  Plant (MVAR)
/// PS5 Plant (MVAR)
500,000 940 P7  Plant (MVAR)
// P9 Plant (MVAR)
-625.000 :
7
/
-750.000
V [pu]
13-2027-Max-Sec_6840
Minimo Margen de
750.000 Reactivo:-63.87MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 —— 128 Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ~——18 Plant (MVAR)
N
N ——19 Plant (MVAR)
0.000 T T T T T T i |
0.7 0800 \\@\ 0900 0.9 /1.000 1.100 1150 M0 Plant(MVAR)
Y a ST1  Plant (MVAR)
-125.000 -
_ ——ST2  Plant (MVAR)
—_— ——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
75,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-MaxSol-Sec_6001

Minimo Margen de

750.000 Reactivo:-81.18MVAr
A
625.000
//
/J
500.000 7 —— CASO BASE
// ——1L11 Plant(MVAR)

375.000 // —— 2B  Plant (MVAR)

/ / —— 4B Plant (MVAR)
250.000 a

I ——16 Plant (MVAR)
|
N I ——L7 Plant (MVAR)
125.000 : /

\ ——18 Plant(MVAR)
\i,\ / —— L9 Plant(MVAR)

Q[MVAr]  0.000 T ;

N ; ; ; ; ; .
0.700 0.750 0800 "\\08 0.900 0, 1.000 1.050 1.100 1150 L10  Plant (MVAR)
NN y ST1  Plant (MVAR)
-125.000 - 4
\_\,_,,/ ——ST2  Plant (MVAR)
ESSo
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-MaxSol-Sec_6002
Minimo Margen de
750.000 Reactivo:-68.56MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
~—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000

—— 18 Plant (MVAR)
~—~—19 Plant (MVAR)

Q[MVAr]  0.000

T T

,
1.050 1.100 1150 L10  Plant (MVAR)

0.700
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-MaxSol-Sec_6003

Minimo Margen de

750.000 Reactivo:-82.04MVAr
625.000 3
Z
a
/
500.000 5 —— CASO BASE
v’
// —— L1 Plant(MVAR)
375.000 F —— 128 Plant (MVAR)
7
/ / —— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] - 0.000 ! ' 110 Plant (MVAR
0.700 0.750 1100 1.150 ant ( )
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-MaxSol-Sec_6004
Minimo Margen de
750.000 Reactivo-72.53MVAr
625.000
500.000 —— CASO BASE
——11 Plant (MVAR)
375.000 - —— 128 Plant (MVAR)
2 4B Plant (MVAR)
250.000 7 ——16 Plant(MVAR)
i ——1L17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : T T ) o »
0.700 0.750 1.050 1.100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-MaxSol-Sec_6005

Minimo Margen de

750.000 Reactivo:-89.15MVAr
625.000
500.000 ——— CASO BASE
—— L1 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
’ ——— 4B Plant (MVAR)
250.000 7 ——16 Plant (MVAR)
// ——17 Plant (MVAR)
125.000 s ——18 Plant (MVAR)
1\ /// ——19 Plant (MVAR)
Q[MVAr]  0.000 : . \ , , 4 , . ,
0.700 0.750 0.800 &\RM/ 1000 1.050 1100 1150 L0 Plant(MVAR)
125,000 § . 4 ST1  Plant (MVAR)
\==¢/ —— T2 Plant (MVAR)
-250.000 \v ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-MaxSol-Sec_6008
Minimo Margen de
750.000 //Keactlvo:-u/.01MVAr
625.000 // /.
500.000 / / ——— CASO BASE
// —— L1 Plant(MVAR)
375.000 /- —— 128 Plant (MVAR)
// 148 Plant (MVAR)
250.000 /4 ——16 Plant(MVAR)
// ——L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
/ —— L9 Plant(MVAR)
Q[MVAr]  0.000 . : : . . . . . ,
0.700 0.750 0.800 0.850 0.900 0.950 1.00/{ 1.050 1.100 1150 110 Plant(MVAR)
‘ ST1  Plant (MVAR)
-125.000
———ST2 Plant (MVAR)
250000 ——P1  Plant (MVAR)
P2 Plant (MVAR)
375,000 P3 Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-MaxSol-Sec_6009

Minimo Margen de

750.000 Reactivo:-247.86MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ~——18 Plant (MVAR)
——19 Plant(MVAR)
0.000 T T T T )
0.7 0.850 0.900 0.950 1.000 1.100 1150 110 Plant(MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-MaxSol-Sec_6018
Minimo Margen de
750.000 Reactivo:-67.87MVAr
625.000
500.000 —— CASO BASE
——1L1 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——1L17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
0.000 T 1 o Pl
o 1100 1150 L10  Plant (MVAR)
ST1  Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




13-2027-MaxSol-Sec_6173
Minimo Margen de

750.000 Reactivo:-53.99MVAr

625.000

500.000 —— CASO BASE
——11 Plant(MVAR)

375.000 ——12B  Plant (MVAR)
—— 148 Plant (MVAR)

250.000 —— L6 Plant(MVAR)

P ——17 Plant (MVAR)
125.000

——18 Plant (MVAR)

——19 Plant(MVAR)

Q[MVAr]  0.000

T T T 1

—— 110 Plant (MVAR)

0.7 1.000 1.050 1.100 1.150
ST1 Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000
V [pu]
13-2027-MaxSol-Sec_6182
Minimo Margen de
750.000 Reactivo-362.51IMVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
~—~— 4B Plant (MVAR)
250.000 ——16 Plant (MVAR)
——1L7 Plant (MVAR)
125.000

—— 18 Plant (MVAR)
~—~—19 Plant (MVAR)

Q[MVAr]  0.000 - - - : . . . .

,
0.700 0.750 0.800 0.850 0.900 0.950 1.000/‘ 1.050 1.100 1150~ L10 Plant(MVAR)
/ ST1 Plant (MVAR)
-125.000 /
/ ———ST2 Plant (MVAR)
/! ——P1 Plant (MVAR)
-250.000
/ P2 Plant (MVAR)
-375.000 P3 Plant (MVAR)

PS5 Plant (MVAR)
P7  Plant (MVAR)

-500.000
P9 Plant (MVAR)

-625.000

-750.000




13-2027-MaxSol-Sec_6840

Minimo Margen de

750.000 Reactivo:-81.49MVAr
625.000 =
500.000 —— CASO BASE
——1L1 Plant (MVAR)
375.000 ——12B  Plant (MVAR)
~—~—14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
——L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
~——19 Plant (MVAR)
Q[MVAr]  0.000 T T , |
0700 0.750 1.100 1150 L0 Plant(MVAR)
ST1 Plant (MVAR)
-125.000
——ST2  Plant (MVAR)
——P1 Plant (MVAR)
-250.000
P2 Plant (MVAR)
375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-Max-Lluv_6001
Minimo Margen de
750.000 Reactivo:-155.41MVAr
625.000
—— CASO BASE
500.000 y
/ ——11 Plant(MVAR)
——L2B  Plant (MVAR|
375.000 £ ant )
—~—L4B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
——L7 Plant(MVAR)
125.000 —— L8 Plant (MVAR)
——L9 Plant(MVAR)
Q[MVA]  0.000 : . , —~—L10 Plant (MVAR)
0.700 0.750 1.100 1.150 1230  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-Max-Lluv_6002

Minimo Margen de

750.000 Reactivo:-130.09MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 - ; ; ; : , ——L10 Plant (MVAR)
0.7 1.050 1.100 1150 1230 Plant (MVAR
-125.000 - ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-Max-Lluv_6003
Minimo Margen de
750.000 Reactivo-157.73MVAr
625.000
4 —— CASO BASE
500.000
——L1 Plant (MVAR)
/ —— 2B Plant (MVAR)
375.000
// ——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
// ——1L7 Plant(MVAR)
125.000 ——1L8 Plant (MVAR)
/l// ——19 Plant (MVAR)
Q[MVAr] 0000 . : . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.900 00/ 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
)’ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-Max-Lluv_6004

Minimo Margen de

750.000 Reactivo:-134.18MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
QIMVA] 0000 ; ; ; . . . ——110 Plant (MVAR)
0.700 0.750 \ 0 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 : ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-Max-Lluv_6005
Minimo Margen de
750.000 Reactivo:-172.28MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
7 / —— 128 Plant (MVAR)
375.000 4
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 T r , ——110 Plant (MVAR)
0.700 0.750 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~———P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-Max-Lluv_6008

Minimo Margen de

750.000 Reactivo:-360.15MVAr
625.000
—— CASO BASE
500.000 4
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
//// —— 148 Plant (MVAR)
250000 —— L6 Plant(MVAR)
/ ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/ ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T ; T ; : . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000]/ 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/J ——ST2  Plant (MVAR)
-250.000 / ~~—P1 Plant (MVAR)
| \ /// P2 Plant (MVAR)
A\
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
: A
500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-Max-Lluv_6009
Minimo Margen de
750.000 Reactivo:-360.86MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
550,000 /; ——16 Plant(MVAR)
/ ——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T - - : - : r , ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.ocy/ 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-Max-Lluv_6018

Minimo Margen de

750.000 Reactivo:-129.53MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
——L9 Plant(MVAR)
Q[MVAr]  0.000 - T T T T , ——L10 Plant (MVAR)
0.7 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 - ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-Max-Lluv_6173
Minimo Margen de
750.000 Reactivo:-95.34MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant(MVAR)
125.000 / ——18 Plant (MVAR)
/ ——1L9 Plant (MVAR)
Q[MVAr]  0.000 T T T " " - " : , —~—L10 Plant (MVAR)

1.050

1.100 1.150 1230  Plant (MVAR

——ST1 Plant (MVAR)
——ST2  Plant (MVAR)

-250.000

——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000

P3  Plant (MVAR)
P5 Plant (MVAR)

-500.000

~——P7 Plant (MVAR)

~——P9 Plant (MVAR)

-625.000

-750.000

V [pu]




14-2027-Max-Lluv_6182

Minimo Margen de

750.000 Reactivo:-510.75MVAr
625.000
/l —— CASO BASE
500.000 r
/, ——11 Plant(MVAR)
i ——12B  Plant (MVAR)
375.000
// ——14B  Plant (MVAR)
250,000 —— L6 Plant(MVAR)
/// ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T ; T ; - . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0(%// 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 : ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-Max-Lluv_6840
Minimo Margen de
750.000 Reactivo:-158.03MVAr
625.000
—— CASO BASE
500.000
/ ——L1 Plant(MVAR)
——12B  Plant (MVAR
375.000 / ant )
// ——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
// ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
A/// ——19 Plant(MVAR)
Q[MVAr]  0.000 T : r , ——110 Plant (MVAR)
0.700 0.750 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~———P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MaxSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-129.82MVAr
625.000
/ —— CASO BASE
500.000
——11 Plant (MVAR)
/ —— 128  Plant (MVAR)
375.000
// —— 148 Plant (MVAR)
250,000 —— L6 Plant(MVAR)
// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ﬁ ——19 Plant (MVAR)
QIMVA  0.000 . . . . ——110 Plant (MVAR)
0.700 0.750 0 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MaxSol-Lluv_6002
Minimo Margen de
750.000 Reactivo:-108.64MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR
375.000 / ant )
/ —— 148 Plant (MVAR)
550,000 e ——16 Plant(MVAR)
/ ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
QIMVAr]  0.000 ; 7 . . . 110 Plant (MVAR)
0.700 0.950 / 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MaxSol-Lluv_6003
Minimo Margen de

750.000 Reactivo:-132.04MVAr

625.000

/ —— CASO BASE

—— L1 Plant(MVAR)

500.000

——1L2B Plant (MVAR)

375.000
// —~—L4B  Plant (MVAR)
—— L6 Plant(MVAR)

250.000
—— L7 Plant(MVAR)

-

—— L8 Plant(MVAR)

125.000

-

9 Plant (MVAR)
T 1 ——1L10 Plant (MVAR)

Q[MVAr]  0.000 :

0.700 0.750 1.100 1.150 1230  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MaxSol-Lluv_6004
Minimo Margen de
750.000 Reactivo:-113.51MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)

—— 19 Plant(MVAR)
y ~—+— 110 Plant(MVAR)

Q[MVAr]  0.000 .

0.700 0.750 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MaxSol-Lluv_6005
Minimo Margen de

750.000 Reactivo:-143.73MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——1L2B Plant (MVAR)

375.000
//// —— 4B Plant (MVAR)

250.000 / ——16 Plant (MVAR)
//// ——17 Plant (MVAR)

125.000 ——18 Plant (MVAR)
\ //// ——19 Plant(MVAR)

\ / ; ——110 Plant (MVAR)

-

—

-

Q[MVAr]  0.000 T T )

0.700 0.750 1.050 1.100 1.150 1230  Plant (MVAR

-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000

V [pu]

14-2027-MaxSol-Lluv_6008
Minimo Margen de

750.000 Reactivo:-309.68MVAr

625.000
/ / —— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
//// ——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
/ ——1L7 Plant(MVAR)
125.000 /

Q[MVAr]  0.000 - - : . .
0.700 0.750 0.800 0.850 0.900 0.950

—— L8 Plant (MVAR)

——19 Plant(MVAR)
. . . , ——110 Plant(MVAR)
1.000 / 1.050 1.100 1150 1230 Plant (MVAR

——ST1 Plant(MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MaxSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-312.38MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
250000 r/ ——16  Plant (MVAR)
/ ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
/// —— 19 Plant(MVAR)
Q[MVAr]  0.000 T ; ; ; ; : , ——L10 Plant (MVAR)
0.700 0.850 0.900 0.950 1.0(y/ 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 / P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 1 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MaxSol-Lluv_6018
Minimo Margen de
750.000 Reactivo:-108.45MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
375,000 4 —— 128  Plant (MVAR)
——L4B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
// ——17 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)

Q[MVAr]

——19 Plant (MVAR)
——L10 Plant (MVAR)

T T 1

1.050 1.100 1.150 1230  Plant (MVAR

——ST1 Plant (MVAR)
——ST2  Plant (MVAR)

-250.000

~~—P1 Plant (MVAR)
P2 Plant (MVAR)

-375.000

P3  Plant (MVAR)
P5 Plant (MVAR)

-500.000

~——P7 Plant (MVAR)
~——P9 Plant (MVAR)

-625.000

-750.000

V [pu]




14-2027-MaxSol-Lluv_6173

Minimo Margen de

750.000 Reactivo-81.3MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 / ——18 Plant(MVAR)
——19 Plant(MVAR)
Q [MVAr] 0.000 A T T T Y ——L10 Plant (MVAR)
0.7 0.75 0.800 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 - ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MaxSol-Lluv_6182
Minimo Margen de
750.000 Reactivo:-448.45MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 T T T - - - - r . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0(7// 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P9 Plant (MVAR)
-625.000

-750.000




14-2027-MaxSol-Lluv_6840
Minimo Margen de

750.000 Reactivo:-133.22MVAr

/ —— CASO BASE
500.000 .
—— L1 Plant(MVAR)
/ ——— 128 Plant (MVAR)

375.000
// —~—L4B  Plant (MVAR)
/ —— L6 Plant(MVAR)

625.000

-

250.000
——17 Plant(MVAR)

——18 Plant (MVAR)
9  Plant (MVAR)

125.000 \
——L10 Plant (MVAR)

Q[MVAr]  0.000 - : ; - - - .

-

0.700 0.750 0: 850 0.900 0.950 0 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 — // 7 ——ST1  Plant (MVAR)
Z ——ST2  Plant(MVAR)

-250.000 ~—+—P1 Plant (MVAR)

~—~—P2  Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)

-500.000 ~—+—P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MedAlt-Lluv_6001
Minimo Margen de
750.000 Reactivo:-223.69MVAr

625.000
// —— CASO BASE

500.000 / ——11 Plant (MVAR)

/ ——128  Plant (MVAR)

375.000 ——13 Plant(MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000

——18 Plant (MVAR)

——19 Plant(MVAR)

T

Q[MVAr]  0.000 - - - : / ,
//1.000 1.050 1.100 1.150

L10  Plant (MVAR)

0.700 0.750 0.800 0.850 0.900
——1230 Plant (MVAR
-125.000
——ST1 Plant (MVAR)
~—+—ST2  Plant (MVAR)
-250.000
~—+—P1 Plant (MVAR)
-375.000 P2  Plant (MVAR)
P3  Plant (MVAR)
-500.000 ~——P5 Plant (MVAR)
~+—P7 Plant (MVAR)
-625.000 P9  Plant (MVAR)
-750.000

V [pu]




14-2027-MedAlt-Lluv_6002

Minimo Margen de

750.000 Reactivo:-192.5MVAr
625.000

—— CASO BASE
500.000 —— L1 Plant(MVAR)

——12B  Plant (MVAR)

375.000 ——1L3  Plant(MVAR)
——1L14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
——L7 Plant(MVAR)
125.000

——18 Plant(MVAR)
——19 Plant(MVAR)

MVAr]  0.000
QMvAr] ' ' X ' 110  Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 1.050 1.100 1.150
—— 1230 Plant (MVAR
-125.000
——ST1 Plant(MVAR)
~~—ST2 Plant (MVAR)
-250.000 -
~——P1 Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ——P5 Plant (MVAR)
~P7 Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000
V [pu]
14-2027-MedAlt-Lluv_6003
Minimo Margen de
750.000 Reactivo-224.38MVAr
625.000
—— CASO BASE
500.000 ——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000 ——13 Plant(MVAR)
—— 148 Plant (MVAR)
250.000 ——L6 Plant (MVAR)
——17 Plant(MVAR)
125.000

——18 Plant (MVAR)

——19 Plant(MVAR)

T

1
y
.000 1.050 1.100 1.150

Q[MVAr]  0.000 - : . .

0.700 0.750 0.800 0.850 0.900 L10  Plant (MVAR)
——1230 Plant (MVAR
-125.000
——ST1  Plant (MVAR)
———ST2  Plant (MVAR)
-250.000
~——P1 Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ~——P5 Plant (MVAR)
~——P7 Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000

V [pu]




14-2027-MedAlt-Lluv_6004

Minimo Margen de

750.000 Reactivo:-191.IMVAr
625.000

—— CASO BASE
500.000 —— L1 Plant(MVAR)

——12B  Plant (MVAR)

375.000 ——1L3  Plant(MVAR)
——1L14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
——L7 Plant(MVAR)
125.000

——18 Plant(MVAR)
——19 Plant(MVAR)

MVAr]  0.000
QMvAr] ' ' X ' X . 110  Plant (MVAR)

0.7 0.800 0.850 0.900 0.950 1.050 1.100 1.150
—— 1230 Plant (MVAR
-125.000
——ST1 Plant(MVAR)
~~—ST2 Plant (MVAR)
-250.000 -
~——P1 Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ——P5 Plant (MVAR)
~P7 Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000
V [pu]
14-2027-MedAlt-Lluv_6005
Minimo Margen de
750.000 Reactivo-245.25MVAr
625.000
—— CASO BASE
500.000 ——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000 ——13 Plant(MVAR)
—— 148 Plant (MVAR)
250.000 ——L6 Plant (MVAR)
——17 Plant(MVAR)
125.000

——18 Plant (MVAR)

——19 Plant(MVAR)

T

1
00 1.050 1.100 1.150

MVAr]  0.000
Q[MVAr ' . X X L10  Plant (MVAR)

0.700 0.750 0.800 0.850 0.900
——1230 Plant (MVAR
-125.000
——ST1 Plant (MVAR)
~—+—ST2  Plant (MVAR)
-250.000
~—+—P1 Plant (MVAR)
-375.000 — P2  Plant (MVAR)
P3  Plant (MVAR)
-500.000 ~——P5 Plant (MVAR)
~+—P7 Plant (MVAR)
-625.000 P9  Plant (MVAR)
-750.000

V [pu]




14-2027-MedAlt-Lluv_6008

Minimo Margen de

750.000 Reactivo:-389.17MVAr
625.000
—— CASO BASE
500.000 —— L1 Plant(MVAR)
——12B  Plant (MVAR)
375.000 ——13 Plant(MVAR)
——1L4B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
—— L7 Plant(MVAR)
125.000

——18 Plant(MVAR)
——19 Plant(MVAR)

MVAr]  0.000
QMvAr] ' ' X ' X 110  Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 1.150
——1230 Plant (MVAR
-125.000
——ST1 Plant(MVAR)
—~—ST2 Plant (MVAR)
-250.000
P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ——P5 Plant (MVAR)
~+—P7 Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000
V [pu]
14-2027-MedAlt-Lluv_6009
Minimo Margen de
750.000 Reactivo-353.62MVAr
625.000
—— CASO BASE
500.000 ——1L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000 ——13 Plant (MVAR)
——L4B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
——1L7 Plant (MVAR)
125.000

——18 Plant (MVAR)

——19 Plant(MVAR)

Q[MVAr]  0.000 . . . . : o n
1.100 1.150 L10  Plant (MVAR)

0.700 0.750 0.800 0.850 0.900
——1230 Plant (MVAR
-125.000
——ST1 Plant (MVAR)
~—+—ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
-375.000 P2  Plant (MVAR)
P3  Plant (MVAR)
-500.000 - ~——P5 Plant (MVAR)
~+—P7 Plant (MVAR)
-625.000 P9  Plant (MVAR)
-750.000

V [pu]




14-2027-MedAlt-Lluv_6018

Minimo Margen de

750.000 Reactivo:-191.18MVAr
625.000
—— CASO BASE
500.000 ——1L1 Plant(MVAR)
——128B  Plant (MVAR)
375.000 ——13  Plant(MVAR)
—— 148 Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : ; ; ; . . |
0.700 0.750 0.800 0.850 1.050 1.100 1150 L10  Plant (MVAR)
——1230 Plant (MVAR
-125.000
——ST1  Plant (MVAR)
~—~—5T2  Plant (MVAR)
-250.000
~—~—P1  Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ~——P5  Plant (MVAR)
~——P7 Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000
V [pu]
14-2027-MedAlt-Lluv_6173
Minimo Margen de
750.000 Reactivo-138.24MVAr
625.000
—— CASO BASE
500.000 ——L1 Plant(MVAR)
——128  Plant (MVAR)
375.000 ——13  Plant (MVAR)
——148B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : : : . 0 bl
07 0.800 0.850 1.050 1100 1150 L10  Plant (MVAR)
——1230 Plant (MVAR
-125.000
——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000
Pl Plant (MVAR)
375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ~—~——P5  Plant (MVAR)
~———P7  Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000

V [pu]




14-2027-MedAlt-Lluv_6182
Minimo Margen de

750.000 Reactivo:-549.72MVAr

625.000
—— CASO BASE

500.000 ——1L1 Plant(MVAR)
/; ——12B  Plant (MVAR)
Va

375.000 ——13 Plant(MVAR)

—— 148 Plant (MVAR)

250.000

125.000
/ ~—— L9 Plant(MVAR)
Q[MVAr]  0.000 . . . . . . /- . , |
0.700 0.750 0.800 0.850 0.900 0.950 1000 //// 1.050 1100 1150 L10  Plant (MVAR)
—— 1230 Plant (MVAR

—— L6 Plant(MVAR)

-

7 Plant (MVAR)

—— L8 Plant (MVAR)

-125.000
——ST1 Plant (MVAR)
——ST2  Plant(MVAR)
-250.000
~——P1 Plant (MVAR)
-375.000 P2 Plant (MVAR)
P3  Plant (MVAR)
-500.000 ——P5 Plant (MVAR)
\ y ~—+—P7 Plant (MVAR)
-625.000 \W/ P9  Plant (MVAR)
-750.000 k\ Z
V [pu]
14-2027-MedAlt-Lluv_6840
Minimo Margen de
750.000 Reactivo:-225.99MVAr

e

625.000
/ —— CASO BASE
500.000 7 ——11 Plant(MVAR)
// / —— 128 Plant (MVAR)
375.000 / / ——13 Plant(MVAR)
7
///// —— 148 Plant (MVAR)

250.000
L6 Plant (MVAR

7 ——1L7 Plant (MVAR)

125.000 ——18 Plant (MVAR)

~—— 19 Plant(MVAR)

Q[MVAr]  0.000 - : . .
0.7 0.800 0.850 0.900

T T T

,
1.000 1.050 1.100 1.150 L10  Plant (MVAR)

—— 1230 Plant (MVAR

-125.000
—+—ST1 Plant(MVAR)

—+—ST2 Plant(MVAR)

-250.000 -
~—~—P1 Plant (MVAR)

P2  Plant (MVAR)

-375.000 o
P3  Plant (MVAR)

~——P5 Plant (MVAR)

-500.000

~——P7 Plant (MVAR)
-625.000 P9 Plant (MVAR)
-750.000

V [pu]




14-2027-MedAltSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-205.5MVAr
625.000
g —— CASO BASE
500.000 /
/ ——11 Plant (MVAR)
/ ——128  Plant (MVAR)
375.000 /
//// ——L4B  Plant (MVAR)
250.000 , —— L6 Plant(MVAR)
//7// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
//// ——19 Plant (MVAR)
0.000 . . . . . . . ——110 Plant (MVAR)
0.7 0.800 0.850 0.900 0.95//1.000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 4 ——STL  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MedAltSol-Lluv_6002
Minimo Margen de
750.000 Reactivo=175.51MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
/ —— 128 Plant (MVAR)
375.000
l//// —— 148 Plant (MVAR)
550,000 / ——16 Plant (MVAR)
W ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
0.000 : . . . . ——110  Plant (MVAR)
0.7 0.800 0.850 0.900 X oo 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MedAltSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-207.98MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
/// —— 4B Plant (MVAR)
250.000 ! —— L6 Plant(MVAR)
//// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.95///1.000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
———ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MedAltSol-Lluv_6004
Minimo Margen de
750.000 Reactivo:-176.99MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR
375.000 7 ant (MVAR)
/ —~—L4B  Plant (MVAR)
550,000 - ——16 Plant (MVAR)
/// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 T - - . . ; . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0. 000 1.050 1.100 1.150 1230 Plant (MVAR

-125.000

-250.000

——ST1 Plant (MVAR)
——ST2  Plant (MVAR)

——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000

P3  Plant (MVAR)

P5 Plant (MVAR)

-500.000

~——P7 Plant (MVAR)

~——P9 Plant (MVAR)

-625.000

-750.000

V [pu]




14-2027-MedAltSol-Lluv_6005

Minimo Margen de

750.000 Reactivo:-221.45MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T ; - - /s - . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 O.QWOO 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 / ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MedAltSol-Lluv_6008
Minimo Margen de
750.000 Reactivo-373.83MVAr
625.000 4
/ —— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
/// ——L4B  Plant (MVAR)
550,000 ’ ——16 Plant (MVAR)
4 ——17 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr] 0000 . . . . . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 f?/ 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\ // ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
\\ \ % P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 N ——P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MedAltSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-351.36MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 )// 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 7 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MedAltSol-Lluv_6018
Minimo Margen de
750.000 Reactivo-174.2MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
/ ——128  Plant (MVAR)
375.000
/// —— 148 Plant (MVAR)
550,000 ——16 Plant (MVAR)
/// ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 - - : . . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 yl/////t{oo 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 \\M Z ——ST1 Plant (MVAR)
~ ——ST2  Plant (MVAR)
-250.000 - ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




14-2027-MedAltSol-Lluv_6173
Minimo Margen de

750.000 Reactivo:-125.56MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——128  Plant (MVAR)

375.000
——14B  Plant (MVAR)

-

6 Plant (MVAR)
/ —— L7 Plant(MVAR)
125.000 —— 18 Plant(MVAR)
/ ——19 Plant (MVAR)

——L110 Plant (MVAR)

Q[MVAr]  0.000 T T T T )

250.000

-

0.700 0.750 0.800 1.050 1.100 1150 1230 Plant (MVAR
-125.000 + — ' ——ST1 Plant(MVAR)
i ) ——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)

-500.000 ——P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
14-2027-MedAltSol-Lluv_6182
Minimo Margen de
750.000 Reactivo:-539.14MVAr

500.000
——11 Plant(MVAR)

625.000
//C —— CASO BASE

——12B  Plant (MVAR)

375.000
——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)

——19 Plant(MVAR)

Q[MVAr]  0.000 : - : . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %y 1.050 1.100 1.150 1230 Plant (MVAR

——ST1  Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)

-625.000

-750.000




14-2027-MedAltSol-Lluv_6840

Minimo Margen de

750.000 Reactivo:-209.27MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
//7/ —~—14B Plant (MVAR)
250.000 —— L6 Plant(MVAR)
/f// ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/W ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T T | ~—=—110 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.95(//1.000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\M ———ST2 Plant (MVAR)
-250.000 : — o ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-Max-Sec_6001
Minimo Margen de
750.000 Reactivo:-208.3MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 : - : r , ——110 Plant (MVAR)
0.7 850 0.900 0.950 %000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ] ——ST1  Plant (MVAR)
' ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-Max-Sec_6002

Minimo Margen de

750.000 Reactivo:-169.8MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 T - . ——110 Plant (MVAR)
0.7 1.100 1150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-Max-Sec_6003
Minimo Margen de
750.000 Reactivo:-208.45MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 - - r . ——110 Plant (MVAR)
0.7 0.900 0.950 /ﬁoo 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-Max-Sec_6004

Minimo Margen de

750.000 Reactivo:-174.5MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
275,000 ——12B  Plant (MVAR)
——14B  Plant (MVAR)
750,000 7 ——16 Plant (MVAR)
——L7 Plant(MVAR)
125,000 /// ——18 Plant(MVAR)
// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T - - : . ——110 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-Max-Sec_6005
Minimo Margen de
750.000 Reactivo:-238.24MVAr
625.000
—— CASO BASE
500.000
/ ——1L1 Plant(MVAR)
375.000 7 ——12B Plant (MVAR)
g —~—L4B  Plant (MVAR)
550,000 /// ——16 Plant(MVAR)
/// ——17 Plant (MVAR)
125.000 / ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVA]  0.000 . : : ; . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-Max-Sec_6008

Minimo Margen de

750.000 Reactivo:-660.33MVAr
625.000
—— CASO BASE
500.000
Z ——L1 Plant (MVAR)
/ ——— 128 Plant (MVAR)
375.000
//// —— 4B Plant (MVAR)
250000 —— L6 Plant(MVAR)
// ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
A / ——L9 Plant (MVAR)
QIMVA] 0000 : ; ; . . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /// 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000 %/
-750.000 \ .
V [pu]
15-2029-Max-Sec_6009
Minimo Margen de
750.000 Reactivo:-588.8MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : - : . : : . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000/1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 # ~~—P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 4 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-Max-Sec_6018

Minimo Margen de

750.000 Reactivo:-168.92MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
/ —~—L4B  Plant (MVAR)
550,000 F ——16 Plant (MVAR)
% ——17 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
f/ ——L9 Plant(MVAR)
Q[MVAr]  0.000 T i T T T T T T | ——L110 Plant (MVAR)
0.700 0.900 %; 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 - > ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-Max-Sec_6173
Minimo Margen de
750.000 Reactivo-116.12MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant(MVAR)
125.000 = ——18 Plant(MVAR)
——L9 Plant(MVAR)
Q[MVAr]  0.000 T T T " - ; - : . —~—L10 Plant (MVAR)
1.000 1.050 1.100 1.150

L230 Plant (MVAR

——ST1 Plant (MVAR)
——ST2  Plant (MVAR)

-250.000

——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000

P3  Plant (MVAR)
P5 Plant (MVAR)

-500.000

~——P7 Plant (MVAR)

~——P9 Plant (MVAR)

-625.000

-750.000

V [pu]




15-2029-Max-Sec_6182

Minimo Margen de

750.000 Reactivo:-905.9MVAr
625.000
—— CASO BASE
500.000
/ ——L1 Plant (MVAR)
7, —— 128  Plant (MVAR)
375.000
//// ——14B  Plant (MVAR)
250,000 —— L6 Plant(MVAR)
/// ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
/// ——L9 Plant (MVAR)
Q[MVAr] 0000 . . . . . . = ; . ~—~—L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-Max-Sec_6840
Minimo Margen de
750.000 Reactivo:-213.8MVAr
625.000
—— CASO BASE
500.000
/// ——L1 Plant (MVAR)
—— 2B Plant (MVAR
375.000 - ant )
// —— 4B Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T . , ——L10 Plant (MVAR)
0.700 0.750 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-MaxSol-Sec_6001

Minimo Margen de

750.000 Reactivo-216.54MVAr
625.000
—— CASO BASE
500.000 =
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000 -
// —~—L4B  Plant (MVAR)
250.000 / —— L6 Plant(MVAR)
// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
W ——19  Plant (MVAR)
Q[MVAr]  0.000 T T T T T f T T | ——L10 Plant (MVAR)
0.700 0.750 0.800\ 850 0.900 0.950 %ooo 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 / ——ST1  Plant (MVAR)
\ ——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-MaxSol-Sec_6002
Minimo Margen de
750.000 Reactivo-175.49MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
/ —— 148 Plant (MVAR)
250.000 // —— L6 Plant (MVAR)
/ ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0.000 T > T T T T T T Y —— 110 Plant (MVAR)
0.700 % 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 . ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-MaxSol-Sec_6003

Minimo Margen de

750.000 Reactivo:-217.06MVAr
625.000
—— CASO BASE
500.000 a
/ ——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000 /
/ ——14B  Plant (MVAR)
250000 4 —— L6 Plant(MVAR)
/// ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
W ——19  Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 /fbo 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-MaxSol-Sec_6004
Minimo Margen de
750.000 Reactivo:-180.32MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVA]  0.000 : . . . . — . . . ——L10 Plant (MVAR)
0.700 0.750 o.soo\\go 0.900 0.95%6/ 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 = a ——ST1  Plant (MVAR
NN Z ( )
NN ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-MaxSol-Sec_6005

Minimo Margen de

750.000 Reactivo:-249.68MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
/ ——L2B  Plant (MVAR)
375.000
/// —— 4B Plant (MVAR)
250000 y —— L6 Plant(MVAR)
//// ——1L7 Plant(MVAR)
125.000 / ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 T T ; ; - ; - : , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.5{)\\ 0.900 0.950 1,000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 4 ——ST1 Plant (MVAR)
\ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-MaxSol-Sec_6008
Minimo Margen de
750.000 Reactivo:-704.37MVAr
625.000 /
—— CASO BASE
500.000 2
/ / ——L1 Plant (MVAR)
—— 2B Plant (MVAR
375.000 . / ant )
///// ——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
//// ——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 : : - : . : . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/// ——5T2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
/// P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
/ ~~—P9  Plant (MVAR)
-625.000 74/
-750.000

V [pu]




15-2029-MaxSol-Sec_6009

Minimo Margen de

750.000 Reactivo:-633MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
—— 128 Plant (MVAR)
375.000
—— 4B Plant (MVAR)
250,000 / —— L6 Plant(MVAR)
// ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 : : - ; ; ; ; . . 110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 ——5T1  Plant (MVAR)
——5T2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~———P9  Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-MaxSol-Sec_6018
Minimo Margen de
750.000 Reactivo-174.5MVAr
625.000
—— CASO BASE
500.000
—— 11 Plant(MVAR)
—— 128 Plant (MVAR)
375.000
/ ——L4B  Plant (MVAR)
550,000 // —— 16 Plant (MVAR)
///// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 - : . . . . . . 110 Plant (MVAR)
0.700 800 0.850 0.900 0.950% 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 =S S ——ST1  Plant (MVAR)
——5T2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




15-2029-MaxSol-Sec_6173

Minimo Margen de

750.000 Reactivo-118.5MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125,000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 T T ; ; : , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 1.000 1.050 1.100 1.150 1230 Plant (MVAR
125.000 = — ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
15-2029-MaxSol-Sec_6182
Minimo Margen de
750.000 Reactivo-968.15MVAr
625.000
—— CASO BASE
500.000
/ —— L1 Plant(MVAR)
—— 2B Plant (MVAR
375.000 A ant { )
//// ——L4B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 /4 ——1L8 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 : : - : : . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1.150 1230 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000 /
-750.000

V [pu]




15-2029-MaxSol-Sec_6840

Minimo Margen de

750.000 Reactivoi-223.38MVAr
625.000
—— CASO BASE
500.000 2
——L1 Plant(MVAR)
/ ——L2B  Plant (MVAR)
375.000
// —~—L4B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
// ——17 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
f/ 19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T : , ——L10 Plant (MVAR)
0.700 0.750 o.sN 50 0.900 0.950 /igoo 1.050 1.100 1.150 1230 Plant (MVAR
-125.000 B ——ST1  Plant (MVAR)
\ ——ST2 Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6001
Minimo Margen de
750.000 Reactivo:-283.41MVAr
625.000
—— CASO BASE
500.000 /
/ ——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
/ / —~—L4B  Plant (MVAR)
250,000 4 ——L6 Plant (MVAR)
/// ——L7 Plant(MVAR)
125.000 /4 ——18 Plant (MVAR)
//// ——L9 Plant(MVAR)
Q[MVAr]  0.000 T T T " - - : . —~—L10 Plant (MVAR)
0.700 0.750\ 0.800 0.850 0.900 0.950 W 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
% ——ST2 Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
\\ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
500,000 N P5 Plant (MVAR)
haas ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




Q[MVAr]

750.000

16-2029-Max-Lluv_6002

Minimo Margen de

Reactivo:-238MVAr

625.000

—— CASO BASE

500.000

——11 Plant(MVAR)

——128  Plant (MVAR)

375.000

——14B  Plant (MVAR)

-

6 Plant (MVAR)

250.000

——17 Plant(MVAR)

——18 Plant(MVAR)

125.000

-

9 Plant (MVAR)

——110 Plant (MVAR)

0.000
0.7

T T T T L T
00 .\D% 0.800 0.850 0.900 0.950 1.00}3#1.050
~_ P

T 1

1.100 1.150

~~+— 1500 Plant (MVAR

-125.000

——ST1  Plant (MVAR)
——ST2  Plant (MVAR)

~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6003
Minimo Margen de
750.000 Reactivo:-283.46MVAr
//‘//
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 “ ——16 Plant (MVAR)
]
/ / ——L7 Plant (MVAR)
125,000 | A ——18 Plant (MVAR)
/
f /// ——19 Plant(MVAR)
/
Q[MVAr]  0.000 : : - : : — : . , ——L10 Plant (MVAR)
0.700 0.750 . 0.800 0.850 0.900 0.950 1%/ 1.050 1.100 1150 . 500 plant (MVAR
o\ /
-125.000 - f ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-Max-Lluv_6004

Minimo Margen de

750.000 Reactivo:-231.87MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 4 —— L6 Plant(MVAR)
/ ——L7 Plant (MVAR)
125.000 gd ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T ; ; - — - . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.00/1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6005
Minimo Margen de
750.000 Reactivoi-316.44MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : : . ; . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 % 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ] ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-Max-Lluv_6008
Minimo Margen de

750.000 Reactivo:-586.15MVAr

625.000

500,000 /4 —— CASO BASE
// ——1L1 Plant (MVAR)
375,000 / —— 128 Plant (MVAR)
———L4B  Plant (MVAR)
250.000 /// ——16 Plant (MVAR)
4 ——17 Plant(MVAR)
125.000 /// ——18 Plant(MVAR)
//// ——19 Plant (MVAR)
Q[MVAr]  0.000 : . . . . . . , . ——110 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——STL  Plant (MVAR)
//// ———ST2  Plant (MVAR)
~250.000 Pl Plant (MVAR)
/ / P2 Plant (MVAR)

-375.000 / / P3  Plant (MVAR)

-

—

-

PS5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)

~~—P9 Plant (MVAR)
-625.000

-750.000
V [pu]
16-2029-Max-Lluv_6009
Minimo Margen de
750.000 Reactivo:-533.78MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000

——14B  Plant (MVAR)
——16 Plant(MVAR)

250.000 7
——17 Plant (MVAR)
125.000 // ——18 Plant (MVAR)
/// —— L9 Plant (MVAR)
. : . —~—110 Plant (MVAR)

Q[MVAr]  0.000 - - : . . .
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1  Plant (MVAR)
// ——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)

P5 Plant (MVAR)

-500.000 ~——P7 Plant (MVAR)

~— P9 Plant (MVAR)

-625.000

-750.000

V [pu]




16-2029-Max-Lluv_6018

Minimo Margen de

750.000 Reactivo:-236.86MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
/ ——L7 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
/// —— L9 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 750 0.800 0.850 0.900 0.950 1.00%/1.050 1.100 1.150 1500  Plant (MVAR
-125.000 . ——ST1  Plant (MVAR)
S 4 —— T2 Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6173
Minimo Margen de
750.000 Reactivoi-212.52MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : - : . . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.95% 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
\\ / ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-Max-Lluv_6182

Minimo Margen de

750.000 Reactivo:-765.97MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ / ——14B  Plant (MVAR)
250000 / —— L6 Plant(MVAR)
//// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// ——L9 Plant (MVAR)
QIMVA] 0000 : ; ; . . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-Max-Lluv_6840
Minimo Margen de
750.000 Reactivo:-290.95MVAr
625.000
Yy —— CASO BASE
500.000
——L1 Plant (MVAR)
/ —— 2B  Plant (MVAR)
375.000
/// ——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
/// ——1L7 Plant(MVAR)
125.000 / ——1L8 Plant (MVAR)
//// ——19 Plant (MVAR)
Q[MVA] 0000 . ; . . . . . . ——110  Plant (MVAR)
0.700 0.750 N).soo 0.850 0.900 0.950 1%6// 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 I/ ——ST1 Plant (MVAR)
‘ ——5T2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MaxSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-304.98MVAr
625.000
—— CASO BASE
500.000
Z ——11 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr] 0000 ; . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 7 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MaxSol-Lluv_6002
Minimo Margen de
750.000 Reactivo:-255.04MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : : : : : . , ——L10 Plant (MVAR)
0.700\@ 0.800 0.850 0.900 0.950 1.00(//.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MaxSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-305.33MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr] 0000 ; . . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MaxSol-Lluv_6004
Minimo Margen de
750.000 Reactivo:-248.36MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
// ——1L19 Plant(MVAR)
Q[MVAr]  0.000 T T - - : - : r , ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.%1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~———P2  Plant (MVAR)
-375.000 - P3  Plant (MVAR)
B PS5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MaxSol-Lluv_6005

Minimo Margen de

750.000 Reactivoi-339.17MVAr
625.000
—— CASO BASE
500.000
4 ——11 Plant(MVAR)
/
/ —— 128  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T y - . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %/ 1.050 1.100 1.150 L500 Plant (MVAR
-125.000 ——5T1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~ P9 Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MaxSol-Lluv_6008
Minimo Margen de
750.000 Reactivo:-631. 74AMVAr
625.000

—— CASO BASE
500.000
A ——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
//// —~—L4B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
/// ——17 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
——L10 Plant (MVAR)

Q[MVAr]  0.000 - - - : . . . . ,
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ///1.050 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1 Plant(MVAR)

/ ——ST2  Plant (MVAR)

-250.000 ~—+—P1 Plant (MVAR)
/// P2 Plant (MVAR)

-375.000 J P3  Plant (MVAR)
/// P5 Plant (MVAR)

-500.000 / ——P7  Plant (MVAR)
. P9  Plant (MVAR)

-625.000 \ //

-750.000 s \

V [pu]




16-2029-MaxSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-569.91MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 %.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 - ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000 -
N
750000 NS
V [pu]
16-2029-MaxSol-Lluv_6018
Minimo Margen de
750.000 Reactivo-253.93MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 . , ——L10 Plant (MVAR)

-250.000

-375.000

-500.000

-625.000

-750.000

T T T T T T T
0.700\&0 0.800 0.850 0.900 0.950 1.00%/[_050

1.100 1.150 500 Plant (MVAR

——ST1 Plant (MVAR)
——ST2  Plant (MVAR)

——P1 Plant (MVAR)

P2 Plant (MVAR)

P3  Plant (MVAR)
P5 Plant (MVAR)

~——P7 Plant (MVAR)

~——P9 Plant (MVAR)

V [pu]




16-2029-MaxSol-Lluv_6173

Minimo Margen de

750.000 Reactivo:-226.61MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ —— 19 Plant(MVAR)
Q[MVAr]  0.000 T T ; ; ; ; : , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.95(% 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ———ST2  Plant (MVAR)
-250.000 / ~—=—P1 Plant (MVAR)
R — -
- P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MaxSol-Lluv_6182
Minimo Margen de
750.000 Reactivo-838.52MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 / ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 : : - : : : : . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 - ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000

-750.000




16-2029-MaxSol-Lluv_6840

Minimo Margen de

750.000 “Reactivo:-313.74MVAr
/

625.000

—— CASO BASE
500.000

——1L1 Plant(MVAR)

——L2B Plant (MVAR)
375.000

——L4B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)

——1L7 Plant(MVAR)
125.000 —— L8 Plant (MVAR)

—— L9 Plant(MVAR)

T ] ——1L10 Plant (MVAR)

Q[MVAr]  0.000 T T T T ;

0.700 0750 0800 0.850 0.900 0.950 1.100 1150 . 500 plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000

V [pu]

16-2029-MedAlt-Lluv_6001
Minimo Margen de

750.000 % Reactivo:-254.98MVAr

625.000 7
/ /a
—— CASO BASE
500.000 -
/ —— L1 Plant(MVAR)
/ g/ —— 128 Plant (MVAR)

375.000
——14B  Plant (MVAR)

—— L6 Plant(MVAR)

250.000
—— L7 Plant(MVAR)

—— L8 Plant (MVAR)

125.000

. ——19 Plant (MVAR)
Q[MVAr] 0000 | . . —~—110 Plant (MVAR)
0700 1.100 1150 . 1500 Plant (MVAR

——ST1  Plant (MVAR)
——ST2  Plant (MVAR)

= T T T T
\KO 0.800 0.850 0.900
AN b N

-250.000 ~——P1 Plant (MVAR)
NN
3 P2 Plant (MVAR)
-375.000 - N
. P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAlt-Lluv_6002

Minimo Margen de

750.000

Reactivo:-221.32MVAr

625.000

/ —— CASO BASE

500.000

— 11

Plant (MVAR)

——128  Plant (MVAR)

375.000

——14B  Plant (MVAR)

-

6 Plant (MVAR)

250.000

—— L7

Plant (MVAR)

——18 Plant(MVAR)

125.000

-

9 Plant (MVAR)

Q[MVAr]  0.000 == T T T ; ; ; : , ——110 Plant (MVAR)
0700 %._0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1150 . (500 Plant (MVAR
[~ /'/
-125.000 N ~ —= ——ST1  Plant (MVAR)
\\\ T o // ——ST2  Plant (MVAR)
S
-250.000 5% 7 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAlt-Lluv_6003
Minimo Margen de
750.000 Reactivo:-255.59MVAr
//
625.000 /
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : - : . , ——L10 Plant (MVAR)
0.700 1750 0.800 0.850 0.900 1.050 1.100 1150 . 500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAlt-Lluv_6004

Minimo Margen de

750.000 Reactivo:-214.52MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ ——L4B  Plant (MVAR)
250,000 g ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T f T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 00 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAlt-Lluv_6005
Minimo Margen de
750.000 Reactivo-272.31MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : : : ; : . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAlt-Lluv_6008

Minimo Margen de

750.000 Reactivo:-404.71MVAr
625.000
—— CASO BASE
500.000
/ ——11 Plant (MVAR)
i //, ——128  Plant (MVAR)
375.000 7
/// —— 4B Plant (MVAR)
250000 / —— L6 Plant(MVAR)
//// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
0.000 . . . . i . . ——110 Plant (MVAR)
0.7 0.850 0.900 0.950 1.0004 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAlt-Lluv_6009
Minimo Margen de
750.000 Reactivo-359.23MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250.000 2 ——1L6 Plant(MVAR)
/ ——17 Plant (MVAR)
125.000 / ——18 Plant (MVAR)
/ 19 Plant(MVAR)
0.000 - . . . . . . ——110  Plant (MVAR)
0.7 0.850 0.900 0.950 1.00% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 / ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAlt-Lluv_6018
Minimo Margen de

750.000 Reactivo:-220.32MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——1L2B Plant (MVAR)

375.000
——L4B Plant (MVAR)

-

250.000 / 6 Plant (MVAR)
/ ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 AN - . . . . . - . . ——— 110 Plant (MVAR)
00 \m;o 0.800 0.850 0.900 0.950 1.000/// 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 \\ ——ST1  Plant (MVAR)
-250.000 J

\

——ST2 Plant (MVAR)

——P1 Plant (MVAR)

S= ~—+—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAlt-Lluv_6173
Minimo Margen de
750.000 Reactivo=201.92MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
/ ——17 Plant(MVAR)
125.000 / ——18 Plant (MVAR)

—— 19 Plant(MVAR)

~—+— 110 Plant(MVAR)

Q[MVAr]  0.000 . . . . . ; . . .
0.700 0.750 0.800 0.850 0.900 0.950/960/ 1.050 1.100 1.150 1500  Plant (MVAR
——ST1  Plant (MVAR)

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

. ~—— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)

P5 Plant (MVAR)

-500.000 ~——P7 Plant (MVAR)
~— P9 Plant (MVAR)

-625.000

-750.000

V [pu]




16-2029-MedAlt-Lluv_6182

Minimo Margen de

750.000 Reactivo:-555.88MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 / ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAlt-Lluv_6840
Minimo Margen de
750.000 Reactivo:-261.29MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
// ——14B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 T : : : : : : . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %/0 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAltSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-443.77MVAr
625.000
/ —— CASO BASE
500.000 /
p ——11 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000 /
/// ——14B  Plant (MVAR)
250.000 4 —— L6 Plant(MVAR)
// ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/// ——19 Plant(MVAR)
Q[MVA]  0.000 . . . . . . . ——110 Plant (MVAR)
0.700 0.850 0.900 0.950 1#/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
4 ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000 -
-750.000
V [pu]
16-2029-MedAltSol-Lluv_6002
Minimo Margen de
750.000 Reactivo-374.73MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
// ——14B  Plant (MVAR)
250.000 ; ——16 Plant(MVAR)
/// ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
// ——19 Plant(MVAR)
Q[MVA]  0.000 . . . . . . . ——L10 Plant (MVAR)
0.7 0.850 0.900 0.950 1.000/ 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~———P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 7 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAltSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-441.52MVAr
625.000
/ —— CASO BASE
500.000
Y ——11 Plant(MVAR)
—— 128 Plant (MVAR)
375.000
/// —— 4B Plant (MVAR)
250.000 ; 4 —— L6 Plant(MVAR)
// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// 19 Plant (MVAR)
Q[MVAr]  0.000 T : - ; ; o ; . ) ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.(#?/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 : ——ST1  Plant (MVAR)
4 ———ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~———P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAltSol-Lluv_6004
Minimo Margen de
750.000 Reactivo-355.15MVAr
625.000
—— CASO BASE
500.000
—— 11 Plant(MVAR)
—— 128 Plant (MVAR)
375.000
—— 148 Plant (MVAR)
550,000 Yy ——16 Plant(MVAR)
// ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// —— 19 Plant(MVAR)
Q[MVAr]  0.000 - : . . . . . . . 110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAltSol-Lluv_6005

Minimo Margen de

750.000 Reactivo:-481.57MVAr
625.000
—— CASO BASE
500.000
/ ——11 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000
% —~—14B  Plant (MVAR)
4 —
250.000 / L6 Plant (MVAR)
/// —— L7 Plant(MVAR)
125,000 ——18 Plant(MVAR)
// 19 Plant (MVAR)
Q[MVAr]  0.000 T T T T A T - . ——110 Plant (MVAR)
0.7 0.800 0.850 0.900 0.950 1.0// 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 y ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAltSol-Lluv_6008
Minimo Margen de
750.000 Reactivo-733.49MVAr
625.000
—— CASO BASE
500.000
/ ——11 Plant(MVAR)
——12B  Plant (MVAR
375.000 / ant( )
// ——14B  Plant (MVAR)
250.000 / ——16 Plant(MVAR)
/// ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T - - - - r . ——110 Plant (MVAR)
0.7 0.800 0.850 0.900 0.950 1.000 /// 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/// ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
M P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
' PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
\ ~——P9 Plant (MVAR)
-625.000 \ //
-750.000 AN

V [pu]




16-2029-MedAltSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-636.39MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
7
250000 /// ——16 Plant (MVAR)
7 ——17 Plant (MVAR)
/
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 T : - - ; - ; . ) ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
// —— T2 Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
/// P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000 -
V [pu]
16-2029-MedAltSol-Lluv_6018
Minimo Margen de
750.000 Reactivo-373.11MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
// —— 148 Plant (MVAR)
550,000 ——16 Plant (MVAR)
/// ——L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 - - . . . . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.00% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




16-2029-MedAltSol-Lluv_6173

Minimo Margen de

750.000 Reactivoi-313.23MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
/ ——L7 Plant(MVAR)
125.000 / ——18 Plant (MVAR)
/ ——19  Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T | ~—=—110 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 / 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
16-2029-MedAltSol-Lluv_6182
Minimo Margen de
750.000 Reactivo-954.3MVAr
625.000
% —— CASO BASE
500.000 /
f ——L1 Plant (MVAR)
// —— 128 Plant (MVAR)
375.000 /
// ——L4B  Plant (MVAR)
250,000 / ——16 Plant (MVAR)
/ —— L7 Plant(MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVA]  0.000 , , , , . . J/a— . . ——110 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
7 PS5  Plant (MVAR)
-500.000 / ——P7  Plant (MVAR)
/4 ~~—P9  Plant (MVAR)
-625.000 //
-750.000 i




16-2029-MedAltSol-Lluv_6840

Minimo Margen de

750.000 Reactivo:-455.05MVAr
625.000
/ —— CASO BASE
500.000 /
4 ——L1 Plant(MVAR)
/ ——L2B  Plant (MVAR)
375.000
/// —~—L4B  Plant (MVAR)
250.000 / —— L6 Plant(MVAR)
/// ——1L7 Plant (MVAR)
125.000 ——L8 Plant (MVAR)
W ——19  Plant (MVAR)
Q[MVAr]  0.000 T T T T T i T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0# 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
4 ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-Max-Sec_6001
Minimo Margen de
750.000 Reactivo:-299.77MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
//’
——L2B  Plant (MVAR|
375.000 - ant { )
% —~—L4B  Plant (MVAR)
250,000 f ——L6 Plant (MVAR)
//// ——L7 Plant (MVAR)
125.000 i ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T " - - : . —~—L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 W 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-Max-Sec_6002

Minimo Margen de

750.000 Reactivo:-245.79MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
// ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
// ——L9 Plant (MVAR)
QIMVAr]  0.000 : ; ; . . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1,% 1.050 1.100 1150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-Max-Sec_6003
Minimo Margen de
750.000 Reactivo:-298.95MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
/ —— 128 Plant (MVAR)
375.000 Z
// ——L4B  Plant (MVAR)
550,000 / —— 16 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
/// —— 19 Plant (MVAR)
Q[MVA] 0000 . ; ; . . . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
4 ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-Max-Sec_6004

Minimo Margen de

750.000 Reactivo:-240.07MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
QIMVA] 0000 ; ; ; . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-Max-Sec_6005
Minimo Margen de
750.000 Reactivo:-340.57MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
/ ——L4B  Plant (MVAR)
2 /
550,000 f L6 Plant (MVAR)
//// ——17 Plant(MVAR)
125.000 ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 : : : : : A : . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0/ 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-Max-Sec_6008

Minimo Margen de

750.000 Reactivo:-392.48MVAr
625.000
—— CASO BASE
500.000
4 ——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
// ——L4B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
/// ——L7 Plant (MVAR)
125.000 y ——18 Plant (MVAR)
//// ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T ; ; ; ; ; : , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ///1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/// ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
/// P2 Plant (MVAR)
-375.000 / P3  Plant (MVAR)
/ PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000 %/
-750.000
V [pu]
17-2031-Max-Sec_6009
Minimo Margen de
750.000 Reactivo:-702.54MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 7 ——16 Plant (MVAR)
// ——17 Plant(MVAR)
125.000 7 / ——1L8 Plant (MVAR)
/// ——L19 Plant(MVAR)
Q[MVAr]  0.000 T : : : : : ; . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000/.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-Max-Sec_6018

Minimo Margen de

750.000 Reactivo:-244.33MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
//// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// ——19 Plant(MVAR)
QIMVA] 0000 ; ; . . . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-Max-Sec_6173
Minimo Margen de
750.000 Reactivo:-215.47MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : : : . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1600 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-Max-Sec_6182

Minimo Margen de

750.000 Reactivo:-1079.18MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 —— L6 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
—— L9 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T Vel : , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 A.OSO 1.100 1.150 L500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-Max-Sec_6840
Minimo Margen de
750.000 Reactivo:-308.92MVAr
625.000
—— CASO BASE
500.000

——11 Plant(MVAR)
——12B  Plant (MVAR)

375.000 /

/// ——14B  Plant (MVAR)

250.000 —— L6 Plant (MVAR)

/// ——17 Plant (MVAR)

125.000 ——18 Plant(MVAR)

/// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T : - : - - r . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.@#/ 1.050 1.100 1.150 1500 Plant (MVAR

——ST1  Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-MaxSol-Sec_6001
Minimo Margen de

750.000 Reactivo:-309.16MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——12B  Plant (MVAR)
375.000
/// ——L4B Plant (MVAR)
250.000 ——L6 Plant (MVAR)
/7/ ——L7 Plant(MVAR)
125.000 —— 18 Plant(MVAR)
/// ~——19 Plant(MVAR)
——L110 Plant (MVAR)

Q[MVAr]  0.000 .
0.700 0.750 0.800 0.850 0.900 0950 1#?/ 1.050 1.100 1.150 1500  Plant (MVAR

-

—

-

-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-MaxSol-Sec_6002
Minimo Margen de
750.000 Reactivo:-252.74MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000

——14B  Plant (MVAR)
——16 Plant(MVAR)

250.000 /
——17 Plant (MVAR)
125.000 /// ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 : - : : . . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 1500 Plant (MVAR
——ST1  Plant (MVAR)

-125.000

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-MaxSol-Sec_6003

Minimo Margen de

750.000 Reactivo:-308.15MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
/ ——L2B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
/// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-MaxSol-Sec_6004
Minimo Margen de
750.000 Reactivo:-246.66MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 P ——16 Plant (MVAR)
// —— 17 Plant(MVAR)
125.000 ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 : : - : . : : . , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-MaxSol-Sec_6005

Minimo Margen de

750.000 Reactivo:-351.97MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000
///' —— 4B Plant (MVAR)
250000 / —— L6 Plant(MVAR)
//// ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/// ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.%/// 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-MaxSol-Sec_6008
Minimo Margen de
750.000 Reactivo:-845.18MVAr
625.000
—— CASO BASE
500.000
/: ——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
4 / —~—L4B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
W —— L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
//// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T : - : - - r . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ///1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/// ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
/// P2 Plant (MVAR)
-375.000 / P3  Plant (MVAR)
/ P5 Plant (MVAR)
fy
-500.000 / ~——P7 Plant (MVAR)
/ ~~—P9  Plant (MVAR)
-625.000 //
-750.000

V [pu]




17-2031-MaxSol-Sec_6009
Minimo Margen de

750.000 Reactivo:-715.95MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——128  Plant (MVAR)

375.000
——14B  Plant (MVAR)

4 —— L6 Plant(MVAR)

250.000
/ ——L7 Plant (MVAR)
/ ——18 Plant (MVAR)

125.000

-

-

9  Plant (MVAR)
. . ——L10 Plant (MVAR)

Q[MVAr]  0.000 T T T T ;

0.700 0.750 0.800 0.850 0.900 0950 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1  Plant (MVAR)

——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
/// P2 Plant (MVAR)

-375.000 - P3  Plant (MVAR)
/ P5  Plant (MVAR)

-500.000 ——P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-MaxSol-Sec_6018
Minimo Margen de
750.000 Reactivo:-251.25MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000

——14B  Plant (MVAR)
——16 Plant(MVAR)

250.000 /
4 ——1L7 Plant(MVAR)
125.000 /// ——18 Plant(MVAR)
/// ——19 Plant(MVAR)
- r ——110 Plant (MVAR)

Q[MVAr]  0.000 - - - : . . ,
0.700 0.750 0.800 0.850 0.900 0.950 1.% 1.050 1.100 1.150 1500  Plant (MVAR

——ST1  Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




17-2031-MaxSol-Sec_6173

Minimo Margen de

750.000 Reactivo:-221.08MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T - . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1000 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
17-2031-MaxSol-Sec_6182
Minimo Margen de
750.000 Reactivo:-1105.47MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
% ——12B  Plant (MVAR)
375.000
/// ——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
// ——L7 Plant(MVAR)
125.000 / ——18 Plant(MVAR)
/// ——19 Plant(MVAR)
Q[MVA]  0.000 : : : . . . : . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /%.oso 1.100 1.150 1500 Plant (MVAR
-125.000 [ ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000

-750.000




17-2031-MaxSol-Sec_6840
Minimo Margen de

750.000 Reactivo:-318.01MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——L2B  Plant (MVAR)
375.000
// ——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
/// ——17 Plant(MVAR)
125.000 ——18 Plant(MVAR)
//// ——L9 Plant (MVAR)
——L10 Plant (MVAR)

Q[MVAr]  0.000 T T T T T ; .
0.700 0.750 0.800 0.850 0.900 0.950 W 1.050 1.100 1.150 1500  Plant (MVAR

-125.000

-

—

-

——ST1  Plant (MVAR)
——ST2  Plant (MVAR)

-250.000 /f ~——P1  Plant (MVAR)
\\\ /// P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-Max-Lluv_6001
Minimo Margen de
750.000 Reactivo:-142.88MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——12B Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)

—— L7 Plant(MVAR)

125.000 / ——18 Plant (MVAR)
\\ [ —— 19 Plant (MVAR)
Q[MVAr]  0.000 : - . . . ; . . . —~—110 Plant (MVAR)

0.700 0.750 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1 Plant(MVAR)

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




Q[MVAr]

18-2031-Max-Lluv_6002

Minimo Margen de

750.000

Reactivo:-120.83MVAr

625.000

—— CASO BASE

500.000

——11 Plant(MVAR)

——128  Plant (MVAR)

375.000

——14B  Plant (MVAR)

7,

-

6 Plant (MVAR)

250.000

7

——17 Plant(MVAR)

——18 Plant(MVAR)

125.000

/4

-

9 Plant (MVAR)

——110 Plant (MVAR)

0.000

. . . . .
i o.;o}\o‘sso 0.900 0950 1 %

T

1.050

T 1

1.100 1.150

L500 Plant (MVAR

-125.000 -
>
N

——ST1  Plant (MVAR)
——ST2  Plant (MVAR)

-250.000 ~~—P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-Max-Lluv_6003
Minimo Margen de
750.000 Reactivo:-143.14MVAr
625.000 s
/ —— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant(MVAR)
Q[MVAr] 0000 . . . . . z : : : ——L10 Plant (MVAR)
0.700 0.750 0.800 \o.sso 0.900 0.950 /%00 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 .Q\ ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 - ~~—P1 Plant (MVAR)
~———P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-Max-Lluv_6004
Minimo Margen de

750.000 Reactivo:-119.89MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——128  Plant (MVAR)

375.000
——14B  Plant (MVAR)

-

6 Plant (MVAR)

250.000 .
——L7 Plant (MVAR)

125.000 / ——18 Plant(MVAR)
/ —— 19 Plant(MVAR)

Q[MVAr]  0.000 . 3 . . . : . . . ——— 110 Plant (MVAR)
0.700 0.750 o.s&»\ 0.850 0.900 0.950 % 1.050 1.100 1.150 1500 Plant (MVAR

- ——ST1 Plant (MVAR)

-

-125.000
——ST2  Plant (MVAR)

-250.000 - ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ~—~——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-Max-Lluv_6005
Minimo Margen de
750.000 Reactivo:-160.31MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
——L7 Plant(MVAR)
125.000 —— L8 Plant (MVAR)
——L9 Plant(MVAR)
0.000 ; ; . . , —~—L10 Plant (MVAR)
0.7 0.800 0.850 0.900 0.950 foo 1.100 1.150 1500  Plant (MVAR
-125.000 / ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-Max-Lluv_6008
Minimo Margen de

750.000 Reactivo:-353.77MVAr

625.000 /
/% —— CASO BASE
500.000
——L1 Plant (MVAR)
) ——L2B  Plant (MVAR)
375.000
//// ——14B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
/// ——L7 Plant (MVAR)
! ——18 Plant (MVAR)

125.000
// L9 Plant (MVAR)
——110 Plant (MVAR)

-

Q[MVAr]  0.000 ; ; ; ; - - — : .
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 L500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
18-2031-Max-Lluv_6009
Minimo Margen de
750.000 Reactivo:-352.5MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000

——14B  Plant (MVAR)
——16 Plant(MVAR)

250.000 /
// ——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 : - : : . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
/ P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)

P5 Plant (MVAR)

-500.000 ~——P7 Plant (MVAR)
~— P9 Plant (MVAR)

-625.000

-750.000

V [pu]




18-2031-Max-Lluv_6018

Minimo Margen de

750.000 Reactivo-120.34MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
275 000 . ——L2B  Plant (MVAR)
/ ——14B  Plant (MVAR)
250.000 ' —— L6 Plant(MVAR)
/ ——17 Plant(MVAR)
125.000 N ——18 Plant (MVAR)
/ 19 Plant (MVAR)
Q[MVAr]  0.000 T ; ; - ; - : , ——L10 Plant (MVAR)
0.700 0. 0;‘30\ 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 N ——ST1 Plant (MVAR)
———ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-Max-Lluv_6173
Minimo Margen de
750.000 Reactivo-114.82MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : . : . . . ——L10 Plant (MVAR)
0.700 0.750 \ 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-Max-Lluv_6182

Minimo Margen de

750.000 Reactivo:-496.09MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
——L9 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T / : , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
~—+—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
18-2031-Max-Lluv_6840
Minimo Margen de
750.000 Reactivo:-146.74MVAr
625.000
/ —— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 ——L6 Plant (MVAR)
——L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)

——19 Plant(MVAR)

Q[MVAr]  0.000 " \ : . ” . , —~—L10 Plant (MVAR)
0.700 0.750 0\83\0.850 0.900 0.950 4000 1.050 1.100 1.150 500 Plant (MVAR
. / ——ST1 Plant(MVAR)

-125.000

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MaxSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-197.96MVAr
625.000
g —— CASO BASE

500.000

——1L1 Plant (MVAR)

——12B  Plant (MVAR)
375.000

——L4B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)

——1L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)

——19 Plant (MVAR)

Q[MVAr]  0.000 T X T T ; : . ——110 Plant (MVAR)
0.700 0.750 }NO\ 0.850 0.900 0.950 /000 1.050 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~—~—P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MaxSol-Lluv_6002
Minimo Margen de
750.000 Reactivo:-166.93MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)

——19 Plant(MVAR)

Q[MVAr]  0.000 : - . . . . . ——110  Plant (MVAR)
0.700 0.750 00 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 1500  Plant (MVAR

——ST1  Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)

P5 Plant (MVAR)

-500.000 ~——P7 Plant (MVAR)
~— P9 Plant (MVAR)

-625.000

-750.000

V [pu]




18-2031-MaxSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-197.95MVAr
625.000
500,000 / —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
4 —~—L4B  Plant (MVAR)
250.000 / —— L6 Plant(MVAR)
4 ——1L7 Plant(MVAR)
125.000 //// ——18 Plant(MVAR)
//// ~——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T : : , ~—~—110 Plant (MVAR)
0.700 0.750 0?‘& 0.850 0.900 0.950 1.000 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MaxSol-Lluv_6004
Minimo Margen de
750.000 Reactivo:-164.53MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
375,000 ——12B  Plant (MVAR)
—~—L4B  Plant (MVAR)
250,000 7 ——16 Plant(MVAR)
7 ——1L7 Plant(MVAR)
125.000 // ——1L8 Plant(MVAR)
Z/ ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T " : : : , —+—110 Plant (MVAR)
0.700 0.750 0{)0 0.850 0.900 0.950 % 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ’ ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~+—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MaxSol-Lluv_6005

Minimo Margen de

750.000 Reactivo-222.67MVAr
625.000
500,000 p) —— CASO BASE
——L1 Plant (MVAR)
275 000 ——L2B  Plant (MVAR)
——14B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125,000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 . . . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 0 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
\ \ ——ST2  Plant (MVAR)
-250.000 AW ~~—P1 Plant (MVAR)
\\\ P2 Plant (MVAR)
-375.000 : \\\M ' P3  Plant (MVAR)
v PS  Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MaxSol-Lluv_6008
Minimo Margen de
750.000 Reactivo-476.87MVAr
625.000
/ —— CASO BASE
500.000
/ ——L1 Plant (MVAR)
375,000 A —— 128  Plant (MVAR)
——L4B  Plant (MVAR)
250,000 //// ——16 Plant (MVAR)
//// ——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr]  0.000 : - - : . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ///1.050 1.100 1.150 1500  Plant (MVAR
-125.000 i ——ST1 Plant (MVAR)
/// ——ST2  Plant (MVAR)
-250.000 i/ ~—+—P1 Plant (MVAR)
4 P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
/ P5 Plant (MVAR)
-500.000 ’ ——P7 Plant (MVAR)
// ~~—P9  Plant (MVAR)
-625.000 \ =
. Noeg

V [pu]




18-2031-MaxSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-456.56MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
750000 / ——16  Plant (MVAR)
// ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
% ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T ; T ; - . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
// ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MaxSol-Lluv_6018
Minimo Margen de
750.000 Reactivo:-166.12MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
/ ——17 Plant (MVAR)
125.000 ) —— 18 Plant(MVAR)
// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T : - : - : r , ——110 Plant (MVAR)
0.700 0.750 800 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MaxSol-Lluv_6173
Minimo Margen de

750.000 Reactivo:-154.27MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——128  Plant (MVAR)

375.000
——14B  Plant (MVAR)

-

6 Plant (MVAR)

250.000
7 ——17 Plant (MVAR)

7
/ ——18 Plant(MVAR)
9 Plant (MVAR)

125.000 /
Q[MVAr]  0.000 \ ; . . . . . . 10 Plant (MVAR)
0.700 07&0 0.800 0.850 0.900 0950 000 1.050 1.100 1.150 1500 Plant (MVAR

——ST1  Plant (MVAR)

——ST2  Plant (MVAR)

-

-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MaxSol-Lluv_6182
Minimo Margen de
750.000 Reactivo:-660.25MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)

——17 Plant (MVAR)

125.000 / ——1L8 Plant (MVAR)
W ——19 Plant (MVAR)
——L10 Plant (MVAR)

Q[MVAr]  0.000 - - - : . . . . ,
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1 Plant(MVAR)

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)

-625.000

-750.000




18-2031-MaxSol-Lluv_6840

Minimo Margen de

750.000 7 Reactivoi-203.76MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/// ——— 4B Plant (MVAR)
250.000 —— L6 Plant(MVAR)
//// ——L7 Plant (MVAR)
125,000 ——18 Plant (MVAR)
N /// ——19 Plant(MVAR)
N
Q[MVAr]  0.000 T ~ ; ; ; : , ——L10 Plant (MVAR)
0.700 0.750 0800, 0850 0.900 0.950 //%4 1.050 1.100 1150 . 500 plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAlt-Lluv_6001
Minimo Margen de
750.000 7 Reactivoi-238.13MVAr
/‘//
625.000 —~
) / —— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
\ ,' ——1L19 Plant(MVAR)
Q[MVAr]  0.000 : : - : : . , ——L10 Plant (MVAR)
0.700 \Yso _ 0.800 0.850 0.900 0.950 1.050 1.100 1150 . 500 plant (MVAR
N
-125.000 ——ST1 Plant (MVAR)
S ——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAlt-Lluv_6002

Minimo Margen de

750.000 Reactivo:-206.24MVAr
625.000
y: —— CASO BASE
500.000 7
/ ——L1 Plant(MVAR)
—— 128 Plant (MVAR)
375.000

——L4B Plant (MVAR)

-

6 Plant (MVAR)

250.000
——17 Plant(MVAR)

—— L8 Plant(MVAR)
9 Plant (MVAR)

125.000 7 /

N /

N /
Q[MVAr]  0.000 T T T T ; T ; - . ——110 Plant (MVAR)
o.7go\\\% 0.800 0.850 0.900 0.950 1/90% 1.050 1.100 1.150 1500  Plant (MVAR
= / ——ST1  Plant (MVAR)

—_ =

\ N~— —-—ST2 Plant (MVAR)

-

-250.000 - S \#/ ~—=—P1 Plant (MVAR)
N ~—~—P2  Plant (MVAR)
-375.000 ot ==_ P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAlt-Lluv_6003
Minimo Margen de
750.000 /,/ Reactivo:-238.23MVAr
/‘/
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
550,000 ——L6 Plant (MVAR)
——L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)

—— 19 Plant(MVAR)

Y ~—+— 110 Plant(MVAR)

Q[MVAr]  0.000 - - : . .

0.700 0.850 0.900 1.050 1.100 1150 . |500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAlt-Lluv_6004

Minimo Margen de

750.000 Reactivo:-201.29MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 / ——16 Plant(MVAR)
/% ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 -+ ~~—P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAlt-Lluv_6005
Minimo Margen de
750.000 Reactivo-254.72MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0000 . . . . . ——110  Plant (MVAR)
0.700 0.750 XBOO 0.850 0.900 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 7 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAlt-Lluv_6008

Minimo Margen de

750.000 Reactivo:-320.48MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
% ——12B  Plant (MVAR)
375.000
//%/ —— 4B Plant (MVAR)
4
250000 / —— L6 Plant(MVAR)
//// ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T / T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 / ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAlt-Lluv_6009
Minimo Margen de
750.000 Reactivo-260.2MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 A ——16 Plant(MVAR)
/ ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
// ——19 Plant (MVAR)
Q[MVA]  0.000 . : : . . . : . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAlt-Lluv_6018

Minimo Margen de

750.000 Reactivo:-205.39MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
\ ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T / | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /1050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
— P2 Plant (MVAR)
-375.000 = == P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAlt-Lluv_6173
Minimo Margen de
750.000 Reactivo-190.46MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
—— 148 Plant (MVAR)
550,000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - - - . . . . . ——110  Plant (MVAR)
0.700 \ 0.750 0.800 0.850 0.900 0.950/41{ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAlt-Lluv_6182

Minimo Margen de

750.000 Reactivo:-249.07MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 / 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 f ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
// ~—+—P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000 //
-750.000 A\ \‘
V [pu]
18-2031-MedAlt-Lluv_6840
Minimo Margen de
750.000 Reactivo:-243.17MVAr
625.000
/ —— CASO BASE
500.000
/ ——L1 Plant (MVAR)
/ —— 128 Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant(MVAR)
——19 Plant (MVAR)
Q[MVAr] 0000 . . : . . . . . ——L10 Plant (MVAR)
0.700 \0750 0.800 0.850 0.900 0.950 #{) 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 N ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAltSol-Lluv_6001

Minimo Margen de

~——110 Plant (MVAR)

750.000 Reactivo:-340.88MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 / ——12B  Plant (MVAR)
Y
/ ~—~—L4B Plant (MVAR)
250.000 //
. ——L6 Plant (MVAR)
4 ——L7 Plant(MVAR)
125.000 ——L8 Plant (MVAR)
~——L9 Plant(MVAR)
Q[MVAr]  0.000 T T T T T Yy / T T , |
0.700 0.750 0.800 0.850 0.900 0.950 1. 1.050 1.100 1.150 L10  Plant (MVAR)
L500 Plant (MVAR
-125.000 |
// ——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAltSol-Lluv_6002
Minimo Margen de
750.000 Reactivo:-289.07MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 ——L2B  Plant (MVAR)
——L4B  Plant (MVAR)
250.000 / ——1L16 Plant (MVAR)
% ——L7 Plant (MVAR)
125.000 ¢ /
) y L8 Plant (MVAR)
/ ——L9 Plant (MVAR)
Q[MVAr] . " )
50

0.000 T T T T T T /
0.700 0.750 0.800 0.850 0.900 0.950 1.000////.(
/

1.100 1.150

1500  Plant (MVAR

-125.000

——ST1  Plant (MVAR)

——ST2  Plant (MVAR)

-250.000

P1 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAltSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-340.47MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 ——128B  Plant (MVAR)
/ —~—L4B  Plant (MVAR)
250.000 / ——16 Plant(MVAR)
/' / ——17 Plant(MVAR)
125.000 ? ——18 Plant (MVAR)
y
/ ~———19 Plant(MVAR)
Q[MVAr]  0.000 : ; . . . d . . |
0.700 0.750 0.800 0.850 0.900 0.950 1.00 1.050 1.100 1150 t10 Plant(MVAR)
1500  Plant (MVAR
-125.000
——ST1  Plant (MVAR)
—~—ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 | P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAltSol-Lluv_6004
Minimo Margen de
750.000 Reactivo-277.64MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 ——12B  Plant (MVAR)
——14B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18  Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 : : : . . . . : 0 bl
0.700 0.750 0.800 0.850 0.900 0950 1, 050 1.100 1.150 L10  Plant (MVAR)
/ 1500 Plant (MVAR
-125.000 /
L ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375.000 4 P3  Plant (MVAR)
PS5  Plant (MVAR)
500,000 P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAltSol-Lluv_6005

Minimo Margen de

750.000 Reactivo:-373.35MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
// —~— 4B Plant (MVAR)
250.000 / ——16 Plant (MVAR)
/ ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
~———19 Plant(MVAR)
Q[MVAr]  0.000 : : ; ; ; . |
0.700 0.750 0.800 0.850 0.900 0.950 1/ 1.050 1.100 1150 t10 Plant(MVAR)
1500 Plant (MVAR
-125.000
/ ——ST1  Plant (MVAR)
——5T2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375000 P3  Plant (MVAR)
PS  Plant (MVAR)
500,000 P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAltSol-Lluv_6008
Minimo Margen de
750.000 Reactivo-638.3MVAr
625.000
500.000 —— CASO BASE
/ ——11 Plant(MVAR)
375.000 Y/ —— 128 Plant (MVAR)
/ ~—~— 4B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
/) ——17 Plant (MVAR)
125.000 7 ——18 Plant (MVAR)
I3
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T | 0 Pl
0.700 0.750 0.800 0.850 0.900 0950 1.000 1.100 1.150 L10  Plant (MVAR)
1500 Plant (MVAR
-125.000
| ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
/// P1  Plant (MVAR)
375000 \ P3  Plant (MVAR)
\\ \ / /// PS5 Plant (MVAR)
500,000 P7  Plant (MVAR)
\\ \ // P9 Plant (MVAR)
-625.000 \\\ \ //
-750.000 A

V [pu]




18-2031-MedAltSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-573.75MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
—~— 4B Plant (MVAR)
250.000 7 ——16 Plant(MVAR)
/Z ——17 Plant (MVAR)
125.000
/ ——18 Plant(MVAR)
~———19 Plant(MVAR)
Q[MvAr] - 0.000 ' ' ' ' ' ' ! ' L10  Plant (MVAR
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //1.050 1.100 1.150 ant( )
/ 1500 Plant (MVAR
-125.000
/ ——ST1  Plant (MVAR)
/ ——5T2  Plant (MVAR)
-250.000 ’
P1  Plant (MVAR)
75,000 7 P3  Plant (MVAR)
/ PS5 Plant (MVAR)
500,000 P7 Plant (MVAR)
%/ PS Plant (MVAR)
>
-625.000 i
\\\\ /
R ——0
-750.000 ;&'%J
V [pu]
18-2031-MedAltSol-Lluv_6018
Minimo Margen de
750.000 Reactivo:-287.52MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
~—— 4B Plant (MVAR)
250.000 ——16 Plant(MVAR)
/ ——1L7 Plant(MVAR)
125.000 7 ——18 Plant (MVAR)
/ 19 Plant (MVAR)
Q[MVAr] T

0.000 T T T T T T T
0.700 0.750 0.800 0.850 0.900 0.950 1.0%. 50

.
1150 L0 Plant(MVAR)

1500  Plant (MVAR

-125.000

——ST1  Plant (MVAR)

——ST2  Plant (MVAR)

-250.000

P1  Plant (MVAR)
-375.000 - P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 =—= P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




18-2031-MedAltSol-Lluv_6173

Minimo Margen de

750.000 Reactivo:-256.87MVAr
625.000
500.000 —— CASO BASE
——L1 Plant(MVAR)
375.000 —— 128 Plant (MVAR)
—~—L4B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 P ——18 Plant(MVAR)
.
P ——19 Plant (MVAR)
QIMVAr] 0000 ; ; . . . . , |
0.700 0.750 0.800 0.850 0.900 0.950 /3@/ 1.050 1.100 1150 ~ L10 Plant(MVAR)
; 1500  Plant (MVAR
-125.000
/ ——ST1  Plant (MVAR)
~ ——5T2  Plant (MVAR)
-250.000 ~
” P1  Plant (MVAR)
-375.000 g P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
18-2031-MedAltSol-Lluv_6182
Minimo Margen de
750.000 Reactivo:-835.14MVAr
625.000
500.000 —— CASO BASE
/ ——11 Plant (MVAR)
375.000 / ——L2B  Plant (MVAR)
// ——14B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
/ ——19 Plant (MVAR)
Q[MVAr]  0.000 , . . . . . . . . o bl
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //1.050 1100 1150 L10  Plant (MVAR)
/ 1500  Plant (MVAR
-125.000 4
/ ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375,000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000

-750.000




18-2031-MedAltSol-Lluv_6840

Minimo Margen de

750.000 Reactivo:-350.64MVAr
625.000
500.000 —— CASO BASE
——11 Plant(MVAR)
375.000 /‘ —— 128 Plant (MVAR)
/ —— 148 Plant (MVAR)
250.000 /L
- / ——16 Plant(MVAR)
4 ——17 Plant (MVAR)
125.000 ——18 Plant(MVAR)
/ ~———19 Plant(MVAR)
Q[MVAr]  0.000 : - - - : ; . |
0.7 0.850 0.900 0.950 1.0/ 1.050 1.100 1150 t10 Plant(MVAR)
j 1500 Plant (MVAR
-125.000 I
/ ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000
P1  Plant (MVAR)
375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 - P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6001
Minimo Margen de
750.000 Reactivo-145.99MVAr
625.000
3 —— CASO BASE
500.000 /
——L1 Plant (MVAR)
4 / ——12B  Plant (MVAR)
375.000
// ——1L4B Plant (MVAR)
250,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
4
125.000 / ——18 Plant (MVAR)
W ——L19 Plant (MVAR)
Q[MvAr]  0.000 > . . | . . . ~——110 Plant (MVAR)
0.7 éx}o\ 0.900 0.950 7/,5@6 1.050 1.100 1150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
N \ % ——ST2  Plant (MVAR)
-250.000 \\ ———— 7 ~~—P1 Plant (MVAR)
e~ P3  Plant (MVAR)
-375.000 o PS  Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~—~—P9  Plant (MVAR)
P14 Plant(MVAR)
-625.000
-750.000

V [pu]




19-2035-Max-Sec_6002
Minimo Margen de

750.000 Reactivo:-118.34MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——12B  Plant (MVAR)

/ ——14B  Plant (MVAR)
250.000 / ——16 Plant(MVAR)
. ——17 Plant(MVAR)

125.000 /// ——18 Plant(MVAR)
// ——19 Plant(MVAR)

Q[MVAr]  0.000 T T T ; : : r , ——110 Plant (MVAR)

0.700 0.750 Wo 0.900 0.950 %/ 1.050 1.100 1.150 1500 Plant (MVAR

- AN ——ST1  Plant (MVAR)

375.000

-

—

-

-125.000
——ST2 Plant (MVAR)

-250.000 ——P1 Plant (MVAR)
P3  Plant (MVAR)

-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)

-500.000 ——P9 Plant (MVAR)

~ P14 Plant(MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6003
Minimo Margen de
750.000 Reactivo:-144.81MVAr
625.000

—— CASO BASE
500.000 ;
——L1 Plant (MVAR)
/ —— 128  Plant (MVAR)
375.000
/// —~—L4B  Plant (MVAR)
250.000 7 ——16 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 / . —— L8 Plant (MVAR)
\ /// ——19 Plant (MVAR)
Q[MVAr]  0.000 : : : . ; . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 %\\i\ 0.900 0.950 /1%}/;{/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 A\ ——ST1  Plant (MVAR)
\\\\\ /J ——ST2  Plant (MVAR)
-250.000 = ——P1 Plant (MVAR)

P3  Plant (MVAR)
-375.000 — PS5 Plant (MVAR)

P7 Plant (MVAR)

-500.000 ~———P9 Plant (MVAR)
~—~ P14 Plant(MVAR)

-625.000

-750.000

V [pu]




19-2035-Max-Sec_6004

Minimo Margen de

750.000 Reactivo:-117.58MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 4 —— L6 Plant(MVAR)
/ ——17 Plant(MVAR)
125.000 2 ——18 Plant(MVAR)
// ——19 Plant (MVAR)
Q[MVAr] 0000 ; ; ; . . . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 \0.850 0.900 0.950 % 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant(MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~—~—P9  Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6005
Minimo Margen de
750.000 Reactivo:-169.57MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
// ——14B  Plant (MVAR)
250.000 74 ——16 Plant(MVAR)
//// ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T - - : r , ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0 900 0.950 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\\ % ——ST2  Plant (MVAR)
-250.000 M / ~—+—P1 Plant (MVAR)
K P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7 Plant (MVAR)
-500.000 ~——P9  Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000

V [pu]




19-2035-Max-Sec_6008

Minimo Margen de

750.000 Reactivo:-461.16MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
f ——128  Plant (MVAR)
375.000
//// —— 148 Plant (MVAR)
250000 / —— L6 Plant(MVAR)
/// ——L7 Plant (MVAR)
125.000 /i ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
QIMVAr]  0.000 . . : . . ——110 Plant (MVAR)
0.7 0.900 0.950 1.000 %.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~—~—P9  Plant (MVAR)
~———P14 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6009
Minimo Margen de
750.000 Reactivo:419.77MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 i ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)
//
125.000 ——1L8 Plant (MVAR)
%/ ——19 Plant(MVAR)
/
Q[MVAr]  0.000 : . . 5 . . ——110  Plant (MVAR)
0.7 0.900 0.950 1.000 //oso 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
// P3  Plant (MVAR)
-375.000 g PS5  Plant (MVAR)
P7 Plant (MVAR)
-500.000 ~——P9  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-Max-Sec_6018
Minimo Margen de

750.000 Reactivo:-118.44MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——1L2B Plant (MVAR)

375.000
——L4B Plant (MVAR)

-

7
250.000 % 6 Plant (MVAR)
' 7
// 7 Plant (MVAR)
125.000 y i ——18 Plant(MVAR)
//// ——19  Plant (MVAR)
Q[MVAr]  0.000 T - - r r - r . . —— 110 Plant (MVAR)
0.700 0.750 Wo 0.900 0.950 %e/ 1.050 1.100 1.150 1500 Plant (MVAR
——ST1 Plant (MVAR)
NS
N

—

-

-125.000

N ——ST2  Plant (MVAR)

-250.000 == = — ——P1 Plant (MVAR)

P3  Plant (MVAR)

-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)

-500.000 ——P9  Plant (MVAR)
~——P14 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6173
Minimo Margen de
750.000 Reactivo:-109.07MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)
125.000 / ——18 Plant(MVAR)

—— 19 Plant(MVAR)

Q[MVAr]  0.000 - : : . : . . , —~—L10 Plant (MVAR)
0.700 0.7&0\ 0.800 0.850 0.900 0.950 .000 1.050 1.100 1.150 500 Plant (MVAR
A \

= ——ST1  Plant (MVAR)
Q\&* - ——ST2  Plant (MVAR)
SSS . 7"/

-125.000

-250.000 ~——P1 Plant (MVAR)
P3  Plant (MVAR)

-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)

-500.000 ~——P9 Plant (MVAR)

~—~—P14 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-Max-Sec_6182

Minimo Margen de

750.000 Reactivo:-745.27MVAr
625.000
—— CASO BASE
500.000 .
——11 Plant(MVAR)
A ——12B  Plant (MVAR)
375.000
//// —~—L4B  Plant (MVAR)
//
250,000 —— L6 Plant(MVAR)
//// ——1L7 Plant (MVAR)
125.000 ) ——18 Plant(MVAR)
//// ——19 Plant(MVAR)
QIMVA] 0000 ; ; ; . . . e . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 ///1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~—~—P9  Plant (MVAR)
~~—P14 Plant(MVAR)
-625.000
-750.000
V [pu]
19-2035-Max-Sec_6840
Minimo Margen de
750.000 Reactivo:-151.25MVAr
625.000
4’ —— CASO BASE
500.000
——11 Plant(MVAR)
g
——12B  Plant (MVAR)
375.000
/// ——14B  Plant (MVAR)
550,000 4 ——16 Plant(MVAR)
//// ——L7 Plant(MVAR)
125.000 ’ ——18 Plant (MVAR)
//W ——19 Plant(MVAR)
Q[MVAr] 0000 . . . : ; . . . ——110 Plant (MVAR)
0.700 0.750 0.800 1%%/ 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/j/ ——ST2  Plant (MVAR)
-250.000 /J ——P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS  Plant (MVAR)
P7 Plant (MVAR)
-500.000 ——P9  Plant (MVAR)
~——P14 Plant(MVAR)
-625.000
-750.000

V [pu]




19-2035-MaxSol-Sec_6001

Minimo Margen de

750.000 Reactivo:-147.02MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
// ——12B  Plant (MVAR)
375.000
/// —— 4B Plant (MVAR)
250.000 / —— L6 Plant(MVAR)
/// ——L7 Plant (MVAR)
125,000 ——18 Plant (MVAR)
//// ——19 Plant (MVAR)
Q[MVAr]  0.000 T T AN - - - . , ——L10 Plant (MVAR)
0.700 0.750 0.800 is 0 0.900 0.950 1//#@0/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
\ \ /J/ ——5T2  Plant (MVAR)
-250.000 ———a—” & ~—~—P1 Plant (MVAR)
P3  Plant (MVAR)
e
-375.000 - PS5 Plant (MVAR)
P7  Plant (MVAR)
~500.000 ~——P9 Plant (MVAR)
~———P14 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-MaxSol-Sec_6002
Minimo Margen de
750.000 Reactivo-118.47MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
/ ——L4B  Plant (MVAR)
250,000 ——16 Plant (MVAR)
// ——17 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
/// —— 19 Plant (MVAR)
Q[MVAr]  0.000 : - - . . : . . . ——110  Plant (MVAR)
0.700 0750  \a8 wso 0.900 0.950 /1/19/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 : ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~—+—P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5  Plant (MVAR)
P7 Plant (MVAR)
-500.000 ~——P9 Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-MaxSol-Sec_6003

Minimo Margen de

750.000 Reactivo:-146.63MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
/ ——12B  Plant (MVAR)
375.000 -
/// ——— 4B Plant (MVAR)
250000 —— L6 Plant(MVAR)
/// ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
/// ——L9 Plant (MVAR)
Q[MVAr] 0000 ; . . . ; . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 @\ 0.900 0.950 /1/}{/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 N ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5  Plant (MVAR)
P7  Plant (MVAR)
-500.000 ——P9  Plant (MVAR)
~——P14 Plant (MVAR)
-625.000
-750.000
V [pu]
19-2035-MaxSol-Sec_6004
Minimo Margen de
750.000 Reactivo:-117.24MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr] 0000 . . . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 \0.850 0.900 0.950 %/ 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000 ~——P9  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-MaxSol-Sec_6005
Minimo Margen de

750.000 Reactivo:-177.76MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

4 ——12B  Plant (MVAR)

375.000
// ——L4B  Plant (MVAR)
/ ——16 Plant (MVAR)

250.000
7 Plant (MVAR)

-

—

—— L8 Plant(MVAR)

125.000

-

9 Plant (MVAR)

T ) ——1L10 Plant (MVAR)

Q[MVAr]  0.000 T T T ;

0.700 0.750 0.800 0.850 0.900 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~——P9 Plant (MVAR)
~~— P14 Plant(MVAR)
-625.000
-750.000
V [pu]
19-2035-MaxSol-Sec_6008
Minimo Margen de
750.000 Reactivo:-466.99MVAr
625.000
/ —— CASO BASE
500.000
/ ——11 Plant(MVAR)
——12B  Plant (MVAR)

375.000 /
//// ——L4B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
//// ——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
: ——L10 Plant (MVAR)

Q[MVAr]  0.000 . . . . . . . ,
0.700 0.750 0.800 0.850 0.900 0.950 1.000 j//mso 1.100 1.150 1500  Plant (MVAR

-125.000 ' ——STL  Plant (MVAR)

j ——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

/ / P3  Plant (MVAR)

P7 Plant (MVAR)

-500.000 ~———P9 Plant (MVAR)
/i ~—~ P14 Plant(MVAR)
-625.000 ///

-750.000
V [pu]

-375.000 / / PS5 Plant (MVAR)




19-2035-MaxSol-Sec_6009

Minimo Margen de

750.000 Reactivo:-471.86MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
750,000 7 ——L6  Plant (MVAR)
/ ——17 Plant (MVAR)
125.000 7 / ——18 Plant (MVAR)
7 ——19 Plant (MVAR)
////
Q[MVAr]  0.000 T T ; - - ; d . , 110  Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 %050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
/ P3  Plant (MVAR)
-375.000 PS5  Plant (MVAR)
4 P7  Plant (MVAR)
-500.000 ——P9  Plant (MVAR)
~———P14 Plant (MVAR)
-625.000 _%
-750.000
V [pu]
19-2035-MaxSol-Sec_6018
Minimo Margen de
750.000 Reactivo:-117.83MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
/ —— 148 Plant (MVAR)
550,000 ——16 Plant (MVAR)
/// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
\\ //// ——19 Plant (MVAR)
Q[MVAr]  0.000 : - - . . 4 . . ——110  Plant (MVAR)
0.700 0.750 \5\0\\0.850 0.900 0.950 %/ 1.050 1.100 1.150 1500  Plant (MVAR
e N D
// ——ST2 Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7 Plant (MVAR)
-500.000 ~——P9  Plant (MVAR)
P14 Plant (MVAR)
-625.000
-750.000

V [pu]




19-2035-MaxSol-Sec_6173
Minimo Margen de

750.000 Reactivo:-106.85MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——1L2B Plant (MVAR)

375.000
—— 148 Plant (MVAR)

250.000 ——16 Plant (MVAR)
——17 Plant (MVAR)

125.000 ——18 Plant (MVAR)

-

9 Plant (MVAR)

T T 1 ——1L10 Plant (MVAR)

Q[MVAr]  0.000 T T T ;

0.700 0.750 \ 0.800 0.850 0.900 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 \ \\\&Nﬁ% ——ST1 Plant(MVAR)
§ .E\, / ——ST2  Plant (MVAR)
-250.000 — = ~—+—P1 Plant (MVAR)
P3  Plant (MVAR)
-375.000 P5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~——P9 Plant (MVAR)
~~— P14 Plant(MVAR)
-625.000
-750.000
V [pu]
19-2035-MaxSol-Sec_6182
Minimo Margen de
750.000 Reactivo:-773.22MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
/ ——12B  Plant (MVAR)
375.000 ?
/ ——L4B  Plant (MVAR)

250.000 ——16 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 y ——1L8 Plant (MVAR)
// ——19 Plant (MVAR)

——110  Plant (MVAR)

Q [MVAr] 0.000 T T T T T T / T T 1
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //050 1.100 1.150 500 Plant (MVAR
-125.000 ——ST1 Plant(MVAR)
/ ——ST2 Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
/ P3  Plant (MVAR)

-375.000 P5 Plant (MVAR)
P7 Plant (MVAR)

-500.000 ~———P9 Plant (MVAR)

~—~ P14 Plant(MVAR)

-625.000

-750.000
V [pu]




19-2035-MaxSol-Sec_6840

Minimo Margen de

750.000 Reactivo:-153.07MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
/ ——12B  Plant (MVAR)
375.000
W —~—L4B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
/////// ——L7 Plant (MVAR)
125.000 ) ——18 Plant (MVAR)
/// ——19  Plant (MVAR)
QIMVA] 0000 : ; : . . ; . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 . }\ X X % 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
\ \\ /J// ——ST2  Plant (MVAR)
-250.000 7 ~~—P1 Plant (MVAR)
/ P3  Plant (MVAR)
-375.000 PS5 Plant (MVAR)
P7  Plant (MVAR)
-500.000 ~—~—P9  Plant (MVAR)
~——P14 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-Max-Lluv_6001
Minimo Margen de
750.000 Reactivo:-128.41MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
// —— 148 Plant (MVAR)
550,000 ——16 Plant (MVAR)
//// ——17 Plant(MVAR)
125.000 ——1L8 Plant (MVAR)
//// ——19 Plant (MVAR)
Q[MVA] 0000 . ; . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0. 0.900 0.950 1 oc%/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 - ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-Max-Lluv_6002

Minimo Margen de

750.000 Reactivo:-107.87MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250.000 / ——16 Plant(MVAR)
// ——17 Plant(MVAR)
125.000 / ——18 Plant (MVAR)
// ——19 Plant(MVAR)
QIMVA] 0000 . . . . . . ——110 Plant (MVAR)
0.7 o.ga\ 0.900 0.950 1.000// 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
\_/ ———ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-Max-Lluv_6003
Minimo Margen de
750.000 Reactivo:-130.42MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 4 ——16 Plant (MVAR)
/// ——17 Plant (MVAR)
125.000 y ——1L8 Plant (MVAR)
" 7’
/[// ——19 Plant (MVAR)
Q[MVA]  0.000 A . . . . . . ——110 Plant (MVAR)
0.7 04 }\ wo 0.950 1.00%///1.050 1.100 1.150 1500  Plant (MVAR
-125.000 \t ——ST1  Plant (MVAR)
\ / ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-Max-Lluv_6004
Minimo Margen de

750.000 Reactivo:-106.62MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——128  Plant (MVAR)

375.000
——14B  Plant (MVAR)

-

250.000 o 6 Plant (MVAR)
—— L7 Plant(MVAR)
125.000 / ——18 Plant(MVAR)
/V/ ——19 Plant (MVAR)

Q[MVAr]  0.000 T T T T : . . , ~—~— 110 Plant (MVAR)

0.700 0.750 0.800 o.sgx 0.900 0.950 % 1.050 1.100 1.150 1500  Plant (MVAR

b ——ST1 Plant (MVAR)

-125.000

——ST2  Plant (MVAR)

-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-Max-Lluv_6005
Minimo Margen de
750.000 Reactivo:-152.19MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
550,000 y 4 ——16 Plant(MVAR)

——17 Plant (MVAR)

—— L8 Plant (MVAR)

125.000 ///
W ——19 Plant(MVAR)
\ ) ——L10 Plant (MVAR)

Q[MVAr]  0.000 - - - : . . V7 .
0.700 0.750 0.800 0.850 0.9 0.950 1.000 //1.050 1.100 1.150 1500  Plant (MVAR

-125.000 \ A\ ———ST1  Plant (MVAR)
\\ /// ———ST2  Plant (MVAR)
-250.000 \y ~—+—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——p7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-Max-Lluv_6008

Minimo Margen de

750.000 Reactivo:-333.42MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
% —— 2B Plant (MVAR)
375.000
/// ——14B  Plant (MVAR)
250,000 / / —— 16 Plant (MVAR)
/// ——17 Plant(MVAR)
125.000 ——18 Plant (MVAR)
/// ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T ; ; T ; : . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /7450 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
/// P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
/ PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
N / ~~—P9  Plant (MVAR)
-625.000 \/
-750.000
V [pu]
20-2035-Max-Lluv_6009
Minimo Margen de
750.000 Reactivo:-358.04MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
/ ——L7 Plant (MVAR)
125.000 / ——18 Plant(MVAR)
// ——19 Plant (MVAR)
Q[MVAr] 0000 . . : : . . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 /Aso 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000 M
-750.000

V [pu]




20-2035-Max-Lluv_6018

Minimo Margen de

750.000 Reactivo:-106.63MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 // —— L6 Plant(MVAR)
/ ——17 Plant (MVAR)
125.000 / ——18 Plant (MVAR)
W ——19 Plant(MVAR)
Q[MVAr]  0.000 . \“\ . . . . . . , ——L10 Plant (MVAR)
0.700 0.750 \ o.s§n\ 0.900 0.950 1.000/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 S / ——ST1 Plant(MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-Max-Lluv_6173
Minimo Margen de
750.000 Reactivo:-99.78MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
550,000 ——16 Plant(MVAR)
——1L7 Plant(MVAR)
125.000 . ——18 Plant (MVAR)
/ ——1L9 Plant (MVAR)
Q[MVA]  0.000 . : : . . . : . . ——L10 Plant (MVAR)
0.700 0.750 &800\ 0.850 0.900 0.950 1.0 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 \ M ——ST1  Plant (MVAR)
M —+—ST2 Plant(MVAR)
250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-Max-Lluv_6182
Minimo Margen de

750.000 Reactivo:-495.53MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——L2B  Plant (MVAR)

375.000 7
/ % —~—L4B  Plant (MVAR)
250.000 ——16 Plant(MVAR)
// ——17 Plant(MVAR)
/ ——18 Plant (MVAR)

125.000

-

9  Plant (MVAR)
. . ——L10 Plant (MVAR)

Q[MVAr]  0.000 T ; ; - - -

0.700 0.750 0.800 0.850 0.900 0.950 1.000 050 1.100 1.150 1500 Plant (MVAR
-125.000 / ——ST1  Plant (MVAR)
// ——ST2  Plant(MVAR)

-250.000 ) : ~—+—P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)

-500.000 ~——P7 Plant (MVAR)
~~ P9 Plant (MVAR)
-625.000
/4

-750.000
V [pu]
20-2035-Max-Lluv_6840
Minimo Margen de
750.000 Reactivo:-135.36MVAr
625.000
—— CASO BASE
500.000

——11 Plant(MVAR)
——12B  Plant (MVAR)

375.000
——14B  Plant (MVAR)

/
250.000 // ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 W ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
——L10 Plant (MVAR)

Q[MVAr]  0.000 - - - : . . . . ,
0.700 0.750 0.800 0.8 0\ X 0.950 1.00%1.050 1.100 1.150 1500  Plant (MVAR
.\\, ~ ——ST1  Plant (MVAR)

-125.000

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6001

Minimo Margen de

750.000 Reactivo:-88.54MVAr
625.000
s —— CASO BASE
500.000
——L1 Plant (MVAR)
/ / ——L2B  Plant (MVAR)
375.000 /
/// ——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
// ——1L7 Plant(MVAR)
125.000 ——18 Plant (MVAR)
——L9 Plant (MVAR)
Q[MVAr]  0.000 T : , ——110 Plant (MVAR)
0.700 0.750 0.800 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MaxSol-Lluv_6002
Minimo Margen de
750.000 Reactivoi-74.22MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
\ /// ——17 Plant (MVAR)
125.000 v, ——18 Plant(MVAR)
\\ \ // ——19 Plant (MVAR)
Q[MVAr]  0.000 - N : : r . , ——L10 Plant (MVAR)
0.700 0.750 (ﬁ\\& 0.900 0.950 1.100 1.150 1500 Plant (MVAR
-125.000 . ——ST1 Plant (MVAR)
\ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-88.64MVAr
625.000
—— CASO BASE
500.000
/ ——11 Plant(MVAR)
/ —— 128 Plant (MVAR
375.000 / ant( )
/// —— 4B Plant (MVAR)
250000 /4 —— L6 Plant(MVAR)
//// ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
//// ——19 Plant (MVAR)
QIMVA] 0000 ; . : . . . . . ——110 Plant (MVAR)
0.700 0.750 0.800 o.%\\ W 0.950 1.000// 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 \ ——STL  Plant (MVAR)
w ——5T2  Plant (MVAR)
-250.000 7 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MaxSol-Lluv_6004
Minimo Margen de
750.000 Reactivo-73.62MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 . ——16 Plant (MVAR)
// ——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVA] 0000 ; ; . . . . . . . ——110  Plant (MVAR)
0.700 0.750 0.800 %0 0.900 0.950 % 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 : \\\\_\,;‘;?’/ ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6005
Minimo Margen de

750.000 Reactivo:-100.42MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

——1L2B Plant (MVAR)
375.000
/ —~—L4B  Plant (MVAR)
250.000 Plant (MVAR)
/’// Plant (MVAR)
125.000 —— L8 Plant (MVAR)
\ / —— L9 Plant(MVAR)
. ——L10 Plant (MVAR)

Q[MVAr]  0.000 T T T T T - .
0.700 0.750 0.800 0.850 0.9\0{ 0.950 1.00/ 1.050 1.100 1.150 1500  Plant (MVAR
2\

-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000

V [pu]

20-2035-MaxSol-Lluv_6008
Minimo Margen de

750.000 Reactivo:-215.24MVAr

625.000
/A —— CASO BASE
500.000

// —— L1 Plant(MVAR)

——128B  Plant (MVAR

375.000 : /. ant ( )
/// ——14B  Plant (MVAR)

250.000 —— L6 Plant (MVAR)

//// ——17 Plant (MVAR)

125.000 ——18 Plant (MVAR)

/// ——19 Plant (MVAR)
Q[MVAr]  0.000 , , . . . . . . —~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //// 1100 1150 1500 Plant (MVAR

——ST1 Plant(MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 / ——P1 Plant (MVAR)
/// P2 Plant (MVAR)

-375.000 / P3  Plant (MVAR)
\ M P5 Plant (MVAR)

-500.000 ~——P7 Plant (MVAR)
\ ~——P9 Plant (MVAR)

-625.000 3

-750.000

V [pu]




20-2035-MaxSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-250.91MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 4 ——16 Plant (MVAR)
/7 ——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
// ——19  Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 %oso 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
/ ———ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 \_’/ ~——P7 Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MaxSol-Lluv_6018
Minimo Margen de
750.000 Reactivo:-73.35MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 / ——16 Plant (MVAR)
\\ //// ——17 Plant(MVAR)
125.000 7 ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr] 0000 ; N . . . . . . ——110  Plant (MVAR)
0.700 0.750 Na}so 0.900 0.950 1.00 / 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 NS ——ST1 Plant(MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6173

Minimo Margen de

750.000 Reactivo:-70.9MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125,000 / ——18 Plant(MVAR)
——L9 Plant (MVAR)
0.000 \ ; ; ; . . ——L10 Plant (MVAR)
0.7 o.s% o.ssx 0.900 0.950 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 A S ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MaxSol-Lluv_6182
Minimo Margen de
750.000 Reactivo:-347.46MVAr
625.000
—— CASO BASE
500.000
// —— L1 Plant(MVAR)
/ —— 2B Plant (MVAR
375.000 / ant( )
// ——L4B  Plant (MVAR)
550,000 /, ——16 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 / ——1L8 Plant (MVAR)
/// ——19 Plant (MVAR)
0.000 : - : : : . , ——L10 Plant (MVAR)
0.7 0.850 0.900 0.950 1.000 //1.050 1.100 1.150 1500 Plant (MVAR
-125.000 / ——ST1 Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MaxSol-Lluv_6840

Minimo Margen de

750.000 Reactivo:-89.18MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
/ ——14B  Plant (MVAR)
250000 . —— L6 Plant(MVAR)
//// ——17 Plant (MVAR)
125.000 \ ——18 Plant(MVAR)
/// ——L9 Plant (MVAR)
QIMVA] 0000 ; . : . . f . . . ——L10 Plant (MVAR)
0.700 0.750 0.800 0.3&\ 00 0.950 1.% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 \ ——ST1 Plant (MVAR)
W / ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
~~— P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAlt-Lluv_6001
Minimo Margen de
750.000 Reactivo:-196.54MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
? —— 2B Plant (MVAR
375.000 / ant )
// ——L4B  Plant (MVAR)
550,000 / ——16 Plant (MVAR)
/// ——17 Plant (MVAR)
125.000 4 ——1L8 Plant (MVAR)
//// —— L9 Plant (MVAR)
Q[MVAr]  0.000 : - : : . . . . ——L10 Plant (MVAR)
0.700 0.750 \isoo 0.850 0.900 0.950 W 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAlt-Lluv_6002

Minimo Margen de

750.000 Reactivo:-169.26MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250000 —— L6 Plant(MVAR)
’ ——17 Plant (MVAR)
125.000 i / ——18 Plant (MVAR)
/// ——19 Plant (MVAR)
QIMVAr]  0.000 » . . . . . . . ——110 Plant (MVAR)
0.700 . 0.900 0.950 1.0% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
\ // ——ST2  Plant (MVAR)
-250.000 - ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAlt-Lluv_6003
Minimo Margen de
750.000 Reactivo:-196.97MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR
375.000 / ant( )
/ —— 4B Plant (MVAR)
550,000 4 - ——1L6 Plant (MVAR)
/// ——17 Plant (MVAR)
125.000 ——18 Plant (MVAR)
//// ——19 Plant(MVAR)
Q[MVAr]  0.000 - - : . . . . . . ——110  Plant (MVAR)
0.700 0.750 %T 0.850 0.900 0.950 1% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 N ——ST1  Plant (MVAR)
/// ——5T2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAlt-Lluv_6004

Minimo Margen de

750.000 Reactivo:-167.24MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250000 —— L6 Plant(MVAR)
/ ——1L7 Plant(MVAR)
125.000 ——18 Plant(MVAR)
/ ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 o.za%)\ 0.850 0.900 0.950 1.0 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 - ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAlt-Lluv_6005
Minimo Margen de
750.000 Reactivo-215.09MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000 A
——14B  Plant (MVAR)
v
250,000 / L6 Plant (MVAR)
// ——17 Plant (MVAR)
125.000 v 4 —— L8 Plant (MVAR)
// ——19 Plant(MVAR)
Q[MVA]  0.000 : : : . . f . . . ——110 Plant (MVAR)
0.700 0.750 0.800 \g.sso 0.900 0.950 %/ 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 AN ———ST1  Plant (MVAR)
\ / ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAlt-Lluv_6008

Minimo Margen de

750.000 Reactivo:-248.38MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
——128  Plant (MVAR)
375.000
—— 148 Plant (MVAR)
250000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
——19 Plant (MVAR)
QIMVA] 0000 . . . . . ——110 Plant (MVAR)
0.7 0.850 0.900 0.950 1.000 /// 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1 Plant (MVAR)
//// ——ST2 Plant (MVAR)
-250.000 / ~——P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
\ P5  Plant (MVAR)
_ AN
500.000 \L%/ 7 ~—~——P7  Plant (MVAR)
/ ~——P9  Plant (MVAR)
-625.000 ‘\/
-750.000
V [pu]
20-2035-MedAlt-Lluv_6009
Minimo Margen de
750.000 Reactivo-259.9MVAr
625.000
—— CASO BASE
500.000
——11 Plant (MVAR)
—— 128 Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——17 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - : . . . . ——110  Plant (MVAR)
0.7 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 A ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAlt-Lluv_6018

Minimo Margen de

750.000 Reactivo:-168.45MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
——L2B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant (MVAR)
125.000 ——18 Plant (MVAR)
\ ——L9 Plant (MVAR)
Q[MVAr]  0.000 \ ? T ; ; T ; : . ——110  Plant (MVAR)
0.700 \Q\k 0 0.850 0.900 0.950 1.% 1.050 1.100 1.150 1500  Plant (MVAR
-125.000 < ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 > ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9  Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAlt-Lluv_6173
Minimo Margen de
750.000 Reactivo-157.63MVAr
625.000
—— CASO BASE
500.000
——L1 Plant (MVAR)
—— 128  Plant (MVAR)
375.000
——L4B  Plant (MVAR)
550,000 ——16 Plant (MVAR)
——L7 Plant (MVAR)
125.000 ——1L8 Plant (MVAR)
——19 Plant (MVAR)
Q[MVAr]  0.000 - : : : : : : . , ——L10 Plant (MVAR)
0.706\ \ okso 0.800 0.850 0.900 0.950 % 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 A ——ST1 Plant (MVAR)
———ST2  Plant (MVAR)
-250.000 ~~—P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~~—P9  Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAlt-Lluv_6182
Minimo Margen de

750.000 Reactivo:-219.35MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

% ——L2B  Plant (MVAR)

7 ——L4B  Plant (MVAR)
250.000 // ——16 Plant(MVAR)
/// ——L7 Plant(MVAR)
4 ——L8 Plant (MVAR)

375.000

-

125.000
/// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T i/ — : , ~—~—110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 // 1.050 1.100 1.150 1500 Plant (MVAR
4
-125.000 4 ——ST1 Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 / P3  Plant (MVAR)
// PS  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9 Plant (MVAR)

-625.000 //

-750.000
V [pu]
20-2035-MedAlt-Lluv_6840
Minimo Margen de

750.000 Reactivo:-201.54MVAr
625.000

—— CASO BASE
500.000

——L1 Plant(MVAR)

/ —— 2B  Plant (MVAR)

375.000

——14B  Plant (MVAR)

250.000 ——16 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 7 ——1L8 Plant (MVAR)
\ /// ——19 Plant (MVAR)

T ——L10 Plant (MVAR)

Q[MVAr]  0.000 - - : : . . .
0.700 0.750 00 0.850 0.900 0.950 1{,%/ 1.050 1.100 1.150 1500  Plant (MVAR

——ST1  Plant (MVAR)

-125.000
——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAltSol-Lluv_6001
Minimo Margen de

750.000 Reactivo:-294.12MVAr

625.000

—— CASO BASE

500.000
—— L1 Plant(MVAR)

—— 128 Plant (MVAR)
375.000 /
//// ——14B  Plant (MVAR)
250.000 ——16 Plant (MVAR)
/// ——1L7 Plant(MVAR)
125.000 f ——18 Plant (MVAR)
/// ——19 Plant(MVAR)
110 Plant (MVAR)

Q[MVAr]  0.000 T T ; ; - - - .
0.700 0.750 \isoo 0.850 0.900 0.950 1/{{}/ 1.050 1.100 1.150 1500  Plant (MVAR
-125.000

-

—

-

——ST1  Plant (MVAR)
——ST2  Plant (MVAR)

-250.000 S % ——P1 Plant (MVAR)
%Q\ // P2 Plant (MVAR)
N 7

-375.000 N w 7 P3  Plant (MVAR)
/ PS5  Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAltSol-Lluv_6002
Minimo Margen de
750.000 Reactivo:-247.97MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B Plant (MVAR)
375.000

——14B  Plant (MVAR)
——16 Plant(MVAR)

250.000 /
——17 Plant (MVAR)
125.000 // ——1L8 Plant (MVAR)
// ——19 Plant (MVAR)
Q[MVAr]  0.000 : - : : . . . . . ——110  Plant (MVAR)
0.700 \NO\ 0.800 0.850 0.900 0.950 1.0(%/ 1.050 1.100 1.150 1500 Plant (MVAR
%/ ——ST1  Plant (MVAR)

——ST2  Plant (MVAR)

-250.000 ~——P1 Plant (MVAR)

P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~——P7 Plant (MVAR)
~—~—P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAltSol-Lluv_6003

Minimo Margen de

750.000 Reactivo:-293.38MVAr
625.000
—— CASO BASE
500.000
/ ——L1 Plant (MVAR)
/ ——12B  Plant (MVAR
375.000 < ant( )
// —— 4B Plant (MVAR)
250.000 —— L6 Plant(MVAR)
/// ——L7 Plant(MVAR)
125,000 ——18 Plant(MVAR)
f// ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T T T | ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.(#% 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 f ——ST1 Plant(MVAR)
4/ ——ST2  Plant (MVAR)
-250.000 - ’ ——P1 Plant (MVAR)
\\\ /// P2 Plant (MVAR)
-375.000 A / P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAltSol-Lluv_6004
Minimo Margen de
750.000 Reactivo-241.42MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250,000 4 ——16 Plant(MVAR)
// ——L7 Plant(MVAR)
125.000 : —— L8 Plant (MVAR)
/// ——19 Plant (MVAR)
Q[MVAr] 0000 . . . . . — : . . ——110 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1?( 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ; ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 - P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ~———P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAltSol-Lluv_6005
Minimo Margen de

750.000 Reactivo:-327.54MVAr

625.000

—— CASO BASE

500.000
——11 Plant(MVAR)

——128  Plant (MVAR)

375.000
——14B  Plant (MVAR)

-

250.000 // 6 Plant (MVAR)
/// —— L7 Plant(MVAR)
125.000 / —— 18 Plant(MVAR)
//// ——19  Plant (MVAR)

——L110 Plant (MVAR)

Q[MVAr]  0.000 T T ; ; - : - - .

0.700 0.750 0.800 0.850 0.900 0.950 1 1.050 1.100 1.150 L500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5  Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAltSol-Lluv_6008
Minimo Margen de
750.000 Reactivo:-658.47MVAr
625.000

—— CASO BASE

500.000 ;
] ——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
///// ——L4B  Plant (MVAR)
250.000 ——L6 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 ! —— L8 Plant (MVAR)
//// ——L9 Plant(MVAR)
——110 Plant (MVAR)

Q[MVAr]  0.000 : T T : : : - : .
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //Aoso 1.100 1.150 1500  Plant (MVAR

-125.000 ——ST1 Plant (MVAR)

4/ ——ST2  Plant (MVAR)

-250.000 ~~—P1 Plant (MVAR)

/// P2 Plant (MVAR)

-375.000 P3  Plant (MVAR)

// P5 Plant (MVAR)

-500.000 / ~——P7 Plant (MVAR)
~— P9 Plant (MVAR)

-625.000 //

-750.000 s

V [pu]




20-2035-MedAltSol-Lluv_6009

Minimo Margen de

750.000 Reactivo:-586.65MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250.000 4 —— L6 Plant(MVAR)
// ——17 Plant(MVAR)
125,000 / ——18 Plant(MVAR)
//,/ ——L9 Plant (MVAR)
Q[MVAr]  0.000 T T T T T T T T ) ——L10 Plant(MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 %.oso 1.100 1.150 1500  Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
/ P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAltSol-Lluv_6018
Minimo Margen de
750.000 Reactivo-246.8MVAr
625.000
—— CASO BASE
500.000
——11 Plant(MVAR)
——12B  Plant (MVAR)
375.000
——14B  Plant (MVAR)
250,000 / ——1L6 Plant (MVAR)
// ——1L7 Plant(MVAR)
125.000 / ——18 Plant(MVAR)
/%/ ——19 Plant (MVAR)
Q[MVAr]  0.000 T T : - : - : r , ——110 Plant (MVAR)
0.700 \m& 0.800 0.850 0.900 0.950 1.0% 1.050 1.100 1.150 1500 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
——ST2  Plant (MVAR)
-250.000 ——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 P3  Plant (MVAR)
P5 Plant (MVAR)
-500.000 ——P7  Plant (MVAR)
~——P9 Plant (MVAR)
-625.000
-750.000

V [pu]




20-2035-MedAltSol-Lluv_6173

Minimo Margen de

750.000 Reactivo-220.75MVAr
625.000
—— CASO BASE
500.000
——L1 Plant(MVAR)
——L2B  Plant (MVAR)
375.000
—~—L4B  Plant (MVAR)
250.000 —— L6 Plant(MVAR)
——L7 Plant(MVAR)
125.000 / ——18 Plant(MVAR)
/ ——19 Plant(MVAR)
Q[MVAr]  0.000 T T T T T T ; : , ——L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 %'050 1100 1150 LS00 Plant (MVAR
-125.000 ——ST1  Plant (MVAR)
/ ———ST2  Plant (MVAR)
-250.000 ~ : ——P1 Plant (MVAR)
W P2  Plant (MVAR)
-375.000 P3  Plant (MVAR)
PS5 Plant (MVAR)
~500.000 ~——P7 Plant (MVAR)
~~—P9 Plant (MVAR)
-625.000
-750.000
V [pu]
20-2035-MedAltSol-Lluv_6182
Minimo Margen de
750.000 Reactivo-872.57MVAr
625.000
—— CASO BASE
500.000
y ——L1 Plant(MVAR)
——L2B  Plant (MVAR|
375.000 / ant { )
//// —~—L4B  Plant (MVAR)
250,000 j ——L6 Plant (MVAR)
/// ——L7 Plant (MVAR)
125.000 / ——18 Plant(MVAR)
/// ——L9 Plant(MVAR)
Q[MVAr]  0.000 T T T " - " V7 : . —~—L10 Plant (MVAR)
0.700 0.750 0.800 0.850 0.900 0.950 1.000 //1.050 1.100 1.150 1500 Plant (MVAR
-125.000 . ——ST1  Plant (MVAR)
4
——ST2  Plant (MVAR)
-250.000 ~——P1 Plant (MVAR)
P2 Plant (MVAR)
-375.000 / P3  Plant (MVAR)
/ P5 Plant (MVAR)
-500.000 ——P7 Plant (MVAR)
/ ~—~—P9 Plant (MVAR)
-625.000 /
4
//
-750.000




Q[MVAr]

20-2035-MedAltSol-Lluv_6840

Minimo Margen de

750.000

Reactivo:-301.62MVAr

625.000

—— CASO BASE

4

500.000

/

——1L1

Plant (MVAR)

—— 128 Plant (MVAR)

375.000

Y/

——14B  Plant (MVAR)

——16 Plant(MVAR)

250.000

/4

——L7 Plant (MVAR)
——1L8 Plant (MVAR)

125.000

/4

——19 Plant (MVAR)

——L110 Plant (MVAR)

0.000
0.7

00

0.850 0.900

0950 1% 1.050

1.100 1.150 LS00

Plant (MVAR

-125.000

——ST1  Plant (MVAR)
——ST2  Plant (MVAR)

-250.000

~—+—P1 Plant (MVAR)

~——P2  Plant (MVAR)

-375.000

P3  Plant (MVAR)
PS  Plant (MVAR)

-500.000

——P7 Plant (MVAR)

~——P9 Plant (MVAR)

-625.000

-750.000

V [pu]




